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1. Gravity separation method is based upon.

A. Preferential washing of ores and gangue particles
B. Difference in densities of ore particles and impurities
C. Difference in chemical properties of ore particles and impurities

D. None of these

Answer: B



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AZ5W0PJcCjMY

L = vvailln viaco S0Iution )

2. In the froth flotation process for the purification of minerals the

particles float because

A. they are light

B. they are insoluble

C. their surface is preferentially wetted by oil

D. they bear an electrostatic charge

Answer: C

o Watch Video Solution

3. Froth floatation process for the concentration of ores is an illustration

of the practical application of

A. Adsorption


https://dl.doubtnut.com/l/_AZ5W0PJcCjMY
https://dl.doubtnut.com/l/_IE5ajlDex6eI
https://dl.doubtnut.com/l/_s6zQVMRJGPnh

B. Absorption

C. Coagulation

D. Sedimentation

Answer: A

° Watch Video Solution

4. Gravity separation process may be used for the concentration of

A. Chalcopyrite

B. Bauxite

C. Haematiteq

D. Calamine

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_s6zQVMRJGPnh
https://dl.doubtnut.com/l/_MKsCIyQm5BiD
https://dl.doubtnut.com/l/_ij2GzwI7KAgO

5.Wolframite (FeW Oy) is separated from cassiterite by

A. Froth flotation method

B. Levigation

C. Electromagenetic method

D. Electrostatic separation method

Answer: C

o Watch Video Solution

6. Among the following statements the incorrect one is

A. Calamine and siderite are carbonates

B. Argentite and cuprite are oxides

C.Zine blende and iron pyrites are sulphides

D. Malachite and azurite are ores of copper 2


https://dl.doubtnut.com/l/_ij2GzwI7KAgO
https://dl.doubtnut.com/l/_aeSEozaJmQPM

Answer: B

° Watch Video Solution

7.The formula of 'spinel' is AB,, O, where A is......, and B is...

A B
A IT A element II A metal
A B
° III A element II A element
A B
" III Transition metal in ~ Transition metal in +2 state
A B

"II A element Transition metal in +2 state

Answer: A

° Watch Video Solution

8. Refractory metals are used in construction of furnaces because

A. they can withstand high temperature


https://dl.doubtnut.com/l/_aeSEozaJmQPM
https://dl.doubtnut.com/l/_RcNRC23g9Nhs
https://dl.doubtnut.com/l/_KPgQwFuCJVw7

B. they are chemically inert

C. their melting point is high

D. none of these

Answer: C

o Watch Video Solution

9. Match the following

List-I List-II

(A)felspar (I)[Ag3SbSs]

(B)Asbestos  (II)Al,O3H50

(C)Pyragyrite (II1I)MgSO,. H,O

(D)diaspore  (IV)KAlSi3Oq
(V)CaMg(SiO;),

The correct answer is

A
A
v

A

C D
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C D
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¢ v 1 III II

B
|4
B
|4


https://dl.doubtnut.com/l/_KPgQwFuCJVw7
https://dl.doubtnut.com/l/_ZSFC2m9v083Q
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Answer: B

° Watch Video Solution

10. Which one of the following is used as conditioner in froth flotation

process

A. Pine oil

B. Soduium ethyl xanthate

C. Sodium carbonate

D. Olive oil Etration of crude metal

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZSFC2m9v083Q
https://dl.doubtnut.com/l/_Qw7QTttydPhY

11. During extraction of a metal there is roasted if it is a

A. Sulphate ore

B. Sulphide ore

C. Carbonate ore

D. Oxide ore

Answer: B

o Watch Video Solution

12. A mixture of Al,O, and Fey can be separated by using

A. Sodium hydroxide

B. Cold water

C. Ethyl alcohol

D. Boiling wate


https://dl.doubtnut.com/l/_eOXItCrNMSQH
https://dl.doubtnut.com/l/_RJo7Pff9wi61

Answer: A

° Watch Video Solution

13. Extraction of metals from sulphide cres is done by

A. Electrolysis
B. Smelting
C. Hydrometallurgy

D. roasting

Answer: B

° Watch Video Solution

14. The substance widely used to remove silica present as impurity, from

the ore is



https://dl.doubtnut.com/l/_RJo7Pff9wi61
https://dl.doubtnut.com/l/_cp1Cwwwt2wmb
https://dl.doubtnut.com/l/_6B9D1H3m0ZJr

A. CaO

B. P,Os

C. SiC

D. N(IQCOg

Answer: A

o Watch Video Solution

15. To remove basic impurities from the ore the substance generally used

is (Roorke screening

A. 5i0,
B. P205
C. P205( or )S’LOQ

D.CaCO3

Answer: C



https://dl.doubtnut.com/l/_6B9D1H3m0ZJr
https://dl.doubtnut.com/l/_BVBeGHZpVgrN

| ° Watch Video Solution

16. During melting an additional substance added to form a fusible

product. It is known as

A.Slag

B. Mud

C. Gangue

D. Flulx

Answer: D

° Watch Video Solution

17. Extraction of aluminium from aluminium oxide (Aly /O3)is het done

by

A. electrolytic reduction of Al;O3


https://dl.doubtnut.com/l/_BVBeGHZpVgrN
https://dl.doubtnut.com/l/_PJhgGjlvfdlW
https://dl.doubtnut.com/l/_T0CRWXnyae0C

B. reduction of Al,O3 with carbon

C.reduction of AlyO3 with sodium

D. reduction of Al,O5 with CO

Answer: A

° Watch Video Solution

18. Calcination is the peccess of heating the ore

A.in inert gas

B. in the presence of air

C.in the absence of air

D. in the presence of CaO and MgO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_T0CRWXnyae0C
https://dl.doubtnut.com/l/_9NBNgaKUzrRr
https://dl.doubtnut.com/l/_4zokNjGs8piT

19. In Baeyer's process before digesting the ce with concentrated sodium

lydroxide it must be

A. Dissolved in cryolite

B. Roasted to convert FeO to Fe,03

C. Evaporated to remove water

D. Dissolved in € CaF;,

Answer: B

o Watch Video Solution

20. Which of the following reagent is used to operate the impurity from

red bonite

A. Conc. HCI

B. Cnc. HQSO4

C. NaOH


https://dl.doubtnut.com/l/_4zokNjGs8piT
https://dl.doubtnut.com/l/_7IIr7IJrXxvR

D. HNO;3

Answer: C

° Watch Video Solution

21. Smelting is ally carried out in

A. Blast fumace

B. Open hearth furnace

C. Muffle furnace

D. Electric furnace

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7IIr7IJrXxvR
https://dl.doubtnut.com/l/_ByuzeRgEdZ3n

22. Formation of metallic copper from the sulphide ore in the normal

thermo-metallurgical pro essentially involves which one of the following

reaction

3
A CuS + 502 — CuO + SOy, CuS + C — Cu + CO
3
B.CUS + 502 — Cu & SO,, CuO + CuS — 3Cu + SO,

C.CuS + 205 — CuS0Oy4, CuSO4 — 2Cu + 250,

3

Answer: B

o Watch Video Solution

23. the most electropositive metals are isolated from their ors by

A. High temperature reduction with carbon

B. Self reduction

C. Thermal decomposition


https://dl.doubtnut.com/l/_hp1sZ7V44DX4
https://dl.doubtnut.com/l/_NLlcXXmVkPdO

D. Electrolysis of fused ionic salts

Answer: D

° Watch Video Solution

24.n oxidisin roasting of Zn, S porducts are

A. ZnO + SO,

B. Zn0O + ZnSO4 + SO,

D. Z’I’L + SO2

Answer: A

o Watch Video Solution

25. In sulphatizing roasting of Zns, products are


https://dl.doubtnut.com/l/_NLlcXXmVkPdO
https://dl.doubtnut.com/l/_cHG4N89sjdNv
https://dl.doubtnut.com/l/_stg617cPUrFn

A ZnO + SOQ

B. Zn0O + ZnSO4 + SO,

D. Zn + SO,

Answer: B

o Watch Video Solution

26. Ag,S or in mixed with NaCl and heated to 6000° in the presence of

air t5hen product formed are

A. Ag + SO4

B. AgCl + SO,

C. AgCl + Na25'04

D. AgCl + Na,S

Answer: C



https://dl.doubtnut.com/l/_stg617cPUrFn
https://dl.doubtnut.com/l/_bJfVnMKNl2va

| o Watch Video Solution

27.Volatile metals like Zn, Cd and )g are generally purified by

A. Distillation

B. electrolysis

C. Poling

D. Cupllation

Answer: A

o Watch Video Solution

28. In order to refine blister copper it is melted in a furnance and is

strirred with gree longs of woman the purpose is

A. To expel the dissolved gasses in the blister

B. To bring the impuriies to surface and oxidise them


https://dl.doubtnut.com/l/_bJfVnMKNl2va
https://dl.doubtnut.com/l/_AJYtibghxSJs
https://dl.doubtnut.com/l/_X5gdX3OqzcQf

C.The increses the carbon content of copper

D.to reduce the metallic oxikde impurities with hydrocarbon gases

libereated from the wood

Answer: D

° Watch Video Solution

29.In the metallurgy of which of the following capellation process is used

A. Copper

B. Silver

C.lIron

D. Aluminium

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_X5gdX3OqzcQf
https://dl.doubtnut.com/l/_8qbHtHs9YeTu
https://dl.doubtnut.com/l/_tnkuxOOADHxa

30. In xone-refining method the molten zone

A. consists of impurities only

B. contains more impurity than the original metal

C. contains the purified metal only

D. moves to either side

Answer: B

o Watch Video Solution

31. Thin and lead can be refined by

A. Cupellation
B. Liquation
C. Poling

D. Bessemerisations


https://dl.doubtnut.com/l/_tnkuxOOADHxa
https://dl.doubtnut.com/l/_UKsTCpetRpDR

Answer: B

° Watch Video Solution

32.Silver containing lead as an impurity is purified by

A. Poling

B. Cupellation

C. Levigation

D. Distillation

Answer: B

° Watch Video Solution

33. Which of the following process is used for concentration of ores and

for refining metals


https://dl.doubtnut.com/l/_UKsTCpetRpDR
https://dl.doubtnut.com/l/_aNXut4H9nwQy
https://dl.doubtnut.com/l/_Tm6vlu3iguRh

A. Liquation

B. Leaching

C. distillation

D. Poling

Answer: A

o Watch Video Solution

34. In the extraction of silver from argentite are the one is treated with
dilute solution of NaCN in water in the presence of Y, whereby the
following reaction takes place.

Ago X + 4NaCN + 2Y — 2Na [Ag(C’N)A + Nay X04X and Y in

this reaction are repesented by

A.Cland S
B.S and O,

C.O and 02


https://dl.doubtnut.com/l/_Tm6vlu3iguRh
https://dl.doubtnut.com/l/_xes0PM23ndbl

D.Oand S

Answer: B

° Watch Video Solution

35. Which is the chief one of copper?

A. Galena

B. Copper pyrites

C.Sphalerite

D. Siderite

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xes0PM23ndbl
https://dl.doubtnut.com/l/_RQaTSN42K36E

36. The matte obtained in the callurgy of copper has the approximate

Composition

A FeS + CuO

B. CuyS + FeO

C.CuyS + FeS

D.CuS + FGSQ

Answer: C

o Watch Video Solution

37.The fux used in the secting of copper pyrites is

A. limes tone

B. silica

C. borax


https://dl.doubtnut.com/l/_K876ijYhsbPp
https://dl.doubtnut.com/l/_Jw8zytCCrdaG

Answer: B

o Watch Video Solution

38. Roasted on one is mixed with coke and time stone and smelted in

blast fumice. Which among the following does not represent the correct

answer about the reactions taking place in the blast fumace.

A.In the lower part, called zone of fusion temperature (1773 K) coke

burns to CO, producing 97000 calories of beat

B.In the middle part, limestone decomoses to give C'o, and lime

which acts as a reducing agent.

C.in the middle part of the furnace called one of heat absorption

(temperture 1073-1273 K) C'O; is reduced to CO

D. At the top is the one of reduction temperature (673-973 K). Here

iron oxide is reduced to spongy iron by


https://dl.doubtnut.com/l/_Jw8zytCCrdaG
https://dl.doubtnut.com/l/_5H9UX7mFU9rX

Answer: B

° Watch Video Solution

39. Calcination is the peccess of heating the ore

A Cu20 + FeS

B. FCS'LO3

C.CuFeS,

D.CusS + FeO

Answer: B

° Watch Video Solution

40. Blister Cu is about :

A .60 % Cu


https://dl.doubtnut.com/l/_5H9UX7mFU9rX
https://dl.doubtnut.com/l/_ruaxmleZTkuP
https://dl.doubtnut.com/l/_E8XHg1qIlwwr

B.90 % Cu

C.98 % Cu

D. 100 % Cu

Answer: C

° Watch Video Solution

41. Heating mixture of CusO and Cus S will give

A.Cu + SO,

B. CU + 503

C.CuO + CuS

D. CU2 SOg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_E8XHg1qIlwwr
https://dl.doubtnut.com/l/_spd9LwBRQOAJ
https://dl.doubtnut.com/l/_sTCSKFduBDVm

42.Zince is obtained or large scale by

A. Electrolysis of ZnCl,

B. Redeuction of ZnO

C. Precipitation with Ag

D. Any of these methods

Answer: B

o Watch Video Solution

43.in Belgian process for reduction of ZnO to Z reductant is

A Al

B. Coal or Coke

C. H,

D. Water gas


https://dl.doubtnut.com/l/_sTCSKFduBDVm
https://dl.doubtnut.com/l/_ti4KtOSn63JA

Answer: B

° Watch Video Solution

44.|mpurities in the zinc spelter are

A. Ag and Au

B.Cd and Pd

C.Cd and Pb

D. Cd As and Au

Answer: C

° Watch Video Solution

45.The magnatite of iron is its

A. Chloride


https://dl.doubtnut.com/l/_ti4KtOSn63JA
https://dl.doubtnut.com/l/_disy6FGl9psP
https://dl.doubtnut.com/l/_Wteasbv2KWzS

B. Sulphate

C. Nitrate

D. Oxide

Answer: D

° Watch Video Solution

46. Most abundant one of iron is

A. magnetite

B. hematite

C. limonite

D. pyrites

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Wteasbv2KWzS
https://dl.doubtnut.com/l/_e0TxbgBhNsla
https://dl.doubtnut.com/l/_kLfaKTcp75ps

47. Mark the wrong statement among the following. The iron ore after

washing is roasted with a little coal in excess of air. During roasting

A. moisture is removed

B.S and As are removed in the form of their volatile oxides

C. Any ferrous oxide is oxidised to femric wride

D.The mass becomes compact and thus makes it suitable for ready

redaction to metallic iron.

Answer: D

° Watch Video Solution

48.The reducing agent added in the extraction of Iron from oxide one of

iron is

A. coke

B. Aluminium


https://dl.doubtnut.com/l/_kLfaKTcp75ps
https://dl.doubtnut.com/l/_OIgmhzuEqqnt

C. carbon monoxide

D. zinc

Answer: A

o Watch Video Solution

49, The iron obtained from blast funkce is

A. Pig iron

B. Silver

C. Soft iron

D. Steel

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OIgmhzuEqqnt
https://dl.doubtnut.com/l/_hieS23HqF8HY

50. In the middle part of blast fumace, irone is treated with limestone to

remove

A C

B. CaO

C. S10,

D. FezO

Answer: C

o Watch Video Solution

51.In the manufacture of iron from hacmatite, the limestone acts as

A. Areducing agent
B. Flux
C.Slag

D. Gangue


https://dl.doubtnut.com/l/_q9srWBZ8nYXG
https://dl.doubtnut.com/l/_fqcRUU57WGtN

Answer: B

° Watch Video Solution

52.Role of limestone used in re extraction

A. Oxidation of Fe ore

B. Reduction of Fe are

C. Formation of slag

D. Purification of Fe formed

Answer: C

° Watch Video Solution

53.In the extraction of iron, the slag produced is

A.CO


https://dl.doubtnut.com/l/_fqcRUU57WGtN
https://dl.doubtnut.com/l/_3sPyXRYi5WCI
https://dl.doubtnut.com/l/_THlNpqhbeOVt

B. FesSiO;

C. MgS’LO3

D. CaSi0;

Answer: D

° Watch Video Solution

54. Which of the following metal can be extracted by smelting

A Al

B. Fe

C. Mg

D. All

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_THlNpqhbeOVt
https://dl.doubtnut.com/l/_yiB2yAnpLrM0
https://dl.doubtnut.com/l/_ilN9OrXYxDQa

55. Which one of the following elements constitutes a major impurity in

pig iron ?

A. Silicon

B. Oxygen

C. Sulphur

D. Carbon

Answer: D

o Watch Video Solution

56. In which of the following porcentage of carboni inimum

A.Pig iron

B. Cast iron

C. Wrought iron

D. Pig iron and wrough iron


https://dl.doubtnut.com/l/_ilN9OrXYxDQa
https://dl.doubtnut.com/l/_jkvXQCcNKWyC

Answer: A

° Watch Video Solution

57. The purest form of commercial iron is

A. Pig iron

B. Cast iron

C. Wrought iron

D. Pig iron and cast iron

Answer: C

° Watch Video Solution

58. Weight ratio of roasted on, coke and limestone fed into the blast

mace in the manufacture of case iron is


https://dl.doubtnut.com/l/_jkvXQCcNKWyC
https://dl.doubtnut.com/l/_3V2CrQwo2vX6
https://dl.doubtnut.com/l/_g55dFhnC25VQ

A8:1:4

B.6:4:1

C.8:4:1

D.8:4:3

Answer: C

o Watch Video Solution

59. Spiegeleisen is on alloy of

A.Fe, Mn C

B. Fe, Mg, C

C.Mn,C, Zn

D. Fe, Mn, Mg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_g55dFhnC25VQ
https://dl.doubtnut.com/l/_nTBuXeUi2LBt

60. Major Component in spiegeleisen is

A. Fe, Mn C
B. Mg
C.Mn,C,Zn

D.C

Answer: A

° Watch Video Solution

61. Carbon is present in pig Iron as

A. FeC
B. F602

C. Fe;:,C’


https://dl.doubtnut.com/l/_nTBuXeUi2LBt
https://dl.doubtnut.com/l/_XfPmapSbpUcm
https://dl.doubtnut.com/l/_axhaAhJGnLyt

D. FelOC’

Answer: C

° Watch Video Solution

62. The metal that occurs in the native state as well as in the combined

formis

A. Silver

B. Magnesium

C. Aluminum

D. Manganese

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_axhaAhJGnLyt
https://dl.doubtnut.com/l/_CTPtC3il7Cak

63. A common metal widely used in the displacement method to obtain

other metals is

A. Cupellation

B. Fe

C.Zn

D.Ca

Answer: C

o Watch Video Solution

64. From sodium argento cyanide Nal A CN, silver is proe pitated by

adding a powder of

A. Gold

B. Zinc

C. Mercury


https://dl.doubtnut.com/l/_EWeBfl3JuBvI
https://dl.doubtnut.com/l/_IpU4oUw24fTj

D. Gold or Mercury

Answer: B

° Watch Video Solution

65. The metal extracted by Icaching with a cyanide is

A Mg

C.Cu

D. Na

Answer: B

o Watch Video Solution

66. The chemical reagent used for leaching of gold and silver ores is


https://dl.doubtnut.com/l/_IpU4oUw24fTj
https://dl.doubtnut.com/l/_PTBrlgPrdgai
https://dl.doubtnut.com/l/_c8GWj4Vk8QOm

A. Sodium hydroxide

B. Potassium cyanide

C. Potassium cyanate

D. Sodium sulphate

Answer: B

o Watch Video Solution

67. Name the metal M, which is extracted based on the following equation
4M + 8CN + 2H,0 + Oy — 4[M(CN),] + 40OH:2[M(CN,)|~ + Zn —
A. Cupellation
B. Au (or) Ag
C.Hg

D. Ni

Answer: B



https://dl.doubtnut.com/l/_c8GWj4Vk8QOm
https://dl.doubtnut.com/l/_xCcMnRidpv0w

| ° Watch Video Solution

68. Native silver metal forms a water soluble complex with a dilute

aqueous solution of NaCN in the presence of

A. Nitrogen

B. Oxygen

C. Carbon dioxide

D. Argon

Answer: B

° Watch Video Solution

69. Which of the following metals can be used for precipitation of silver

from sodium argento cyanide solution

A.Zn


https://dl.doubtnut.com/l/_xCcMnRidpv0w
https://dl.doubtnut.com/l/_kI3RPLLVmAIK
https://dl.doubtnut.com/l/_elbxfGbeyET8

B.Cu

C. Al

D. All

Answer: D

° Watch Video Solution

70. The final step in the metallurgical extraction of Cu metal from u

pyrites takes place in a Bessemet converter. The reaction taking place

B.4Cus0 + FeS — 8Cu + FeSO,

D.CuyS + 2FeO — 2CuO + 2Fe + sO,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_elbxfGbeyET8
https://dl.doubtnut.com/l/_EqvcaV8KHvV1

71. | high temperature the amount of sodium formed in the Castner

process decreases due to

A. Sodium metal high densit

B. Sodium metal dissolves in fused NaOH

C. High electrode potential

D. Low jonisation potential

Answer: B

o Watch Video Solution

72. The substance added to Nacl in Down's process to lower the melting

point of NaCl

A. KCl

B. K,COs


https://dl.doubtnut.com/l/_EqvcaV8KHvV1
https://dl.doubtnut.com/l/_HemIpuHpqtuE
https://dl.doubtnut.com/l/_VwTTlFWU0xg0

C.CaCl,

D. AlCl;

Answer: C

° Watch Video Solution

73.In the Down's process at low temperature sodium extracted is more

because

A. Solubility of sodium metal in fused electrolyte is less

B. Vapour pressure of sodium is more

C. Solubility of sodium in fused state is high

D. Common salt is the electrolyte used

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_VwTTlFWU0xg0
https://dl.doubtnut.com/l/_U0WPQNpijLQZ
https://dl.doubtnut.com/l/_vWPjSjbahbP5

74. (A): Magnesium metal can easily be extracted from sea water rather
than sodium metal,
(R):Mg(OH), is less soluble in water than NaOH.

A. A and are true, R explains A

B. A and Rare true, Reinot explain A

C.Ais true R is false

D. Ais false R is true

Answer: A

o Watch Video Solution

75. What is the reaction occuring at the anode in Duw's process for the

extraction of sodium?

A.40H ~ — 2H,0 + Oy + 4e~

B.Na™ +e~ — Na


https://dl.doubtnut.com/l/_vWPjSjbahbP5
https://dl.doubtnut.com/l/_IlowN359RvkI

C.201" — Cly2e™

D.NaH — Na* + OH ~

Answer: C

° Watch Video Solution

76. Which one of the following electrolyte is used in Down's process of

extracting sodium metal?

A.NaCl + KCl + KF

B. NaCl

C.NAOH + KCl + KF

D. NaCl + NaOH

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IlowN359RvkI
https://dl.doubtnut.com/l/_fQITcMlut5te
https://dl.doubtnut.com/l/_CB9XBS8jBbWB

77.In the Castner process for the extraction of sodium, the anode is made

of.... Metal.

A. Copper

B. Iron

C. Sodium

D. Nickel

Answer: D

o Watch Video Solution

78.The electrolyte used in castner's process of sodium extraction is

A. Aquesous NayCOj3

B. Aqueous NaOH

C. NaCl + NaCl,

D. Fused anhydrous NaOH


https://dl.doubtnut.com/l/_CB9XBS8jBbWB
https://dl.doubtnut.com/l/_TFl0SDiQNgNF

Answer: D

° Watch Video Solution

79.1n the extraction of sodium by Down's process, cathode and anode are

respectively

A. Copper and Nickel

B. Copper and Chromium

C. Nickel and Chromium

D. Iron and Graphite

Answer: D

° Watch Video Solution

80. Of the following metuls that cannot be obtained by elecrolysis of the

aqueous solution of their satts is are


https://dl.doubtnut.com/l/_TFl0SDiQNgNF
https://dl.doubtnut.com/l/_fsY6Z5Px5RY2
https://dl.doubtnut.com/l/_IclNyWKXRFin

A Ag

B. Mg

C.Cu

D. Al and Mg

Answer: D

o Watch Video Solution

81. (A) In the extraction of Mg from used anhydrous MgCl, air gap of the
electrolytic cell is to be replaced by inert gas.
(R) Oxidation of Mg metal is to be prevented during its extraction by
electrolytic reduction of anhydrous MgCl,

A. A and are true, R explains A

B. A and Rare true, Reinot explain A

C.Ais true R is false

D. Ais false R is true


https://dl.doubtnut.com/l/_IclNyWKXRFin
https://dl.doubtnut.com/l/_ZL5fYezinUE5

Answer: A

° Watch Video Solution

82. Sea water contains Magnesium in the form of

A. Carbonate

B. Chloride

C.Suphate

D.Both 2 & 3

Answer: D

° Watch Video Solution

83. Magnesium metal is extracted from

A. Camallite


https://dl.doubtnut.com/l/_ZL5fYezinUE5
https://dl.doubtnut.com/l/_cKhVuwDxivqi
https://dl.doubtnut.com/l/_z4icEk86bESH

B. Magnesite

C. Sea wate

D. All of these

Answer: D

° Watch Video Solution

84. Hydrated magnesium chloride, on strong heating gives finally

B. MgO
C. Mg(OH)ClI

D. MgzOC’ZQ

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_z4icEk86bESH
https://dl.doubtnut.com/l/_KpozDljE7Tqg
https://dl.doubtnut.com/l/_7hnd0SeXykvG

85. On heating MgCl,. 2H50 at 350°C' in the presence of anhydrous

MgC,, is formed

A.dry HCl

B. CO gas

C. SO,

D. Air

Answer: A

o Watch Video Solution

86. In the Hanging method of reduction of Magnesia with carbon, the
backward reaction is prevented by quenching the mixture of magnesium
vapour and cartoon monoxide with

A. HCl gas

B. CO gas


https://dl.doubtnut.com/l/_7hnd0SeXykvG
https://dl.doubtnut.com/l/_EfkQU3ow6nWc

C.CAF,

D. H,

Answer: D

o Watch Video Solution

87. MgO can be reudced with

A. Silicon

B. Ferro- Silicion

C. CGCQ

D. Al the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_EfkQU3ow6nWc
https://dl.doubtnut.com/l/_gPoCH0vtlIDa

88. In the Hansging method Magnesia is reduced using.

A.Si

B. Can

C.FeSt

D. Cocke

Answer: D

o Watch Video Solution

89.In the Bayer's process of purification of red hauxite the leaching agent

is

A. concentrated caustic soda

B. Na2003

C. NaCN

D. KCN


https://dl.doubtnut.com/l/_UAF5CZ6XDNIZ
https://dl.doubtnut.com/l/_zcEcjsCyERwt

Answer: A

° Watch Video Solution

90. Chemical leaching in seful in the concentration of

A. copper pyrites

B. bauxite

C.galena

D. cassiterite

Answer: B

° Watch Video Solution

91. The electrolytic reduction method for the preparation of aluminium is

called


https://dl.doubtnut.com/l/_zcEcjsCyERwt
https://dl.doubtnut.com/l/_qZqAlxOZSpS0
https://dl.doubtnut.com/l/_TQQBnc31kitH

A. Hoop's process

B. Baeyer's process

C. Hall and Heroult process

D. Serpeck process

Answer: C

o Watch Video Solution

92. The important by product in the purification of bauxite by Serpeck's

process is

A. HCI

B. N,

C.NH;

D. NO,

Answer: C



https://dl.doubtnut.com/l/_TQQBnc31kitH
https://dl.doubtnut.com/l/_a5Rzko9xuMTS

| o Watch Video Solution

93. The reaction not involved in the concentration of bauxite are by Hall's

process is

A Al203 + NCL2003 — 2NaAl03 + 002
B.2NaAlO, + 3H,0 + CO; — 2AI(OH); + NayCOs;
C. 2Al(OH)3 — Al203 + 3H20

D. AIN + H,O — Al(OH), + NH;

Answer: D

° Watch Video Solution

94. The Product not involved in the concentration of bauxite are by Hall's

process is

A Al


https://dl.doubtnut.com/l/_a5Rzko9xuMTS
https://dl.doubtnut.com/l/_MxwOnxtjV6nC
https://dl.doubtnut.com/l/_q8HlO5Wt1jNs

B. Na

C. O,

D. H,

Answer: C

° Watch Video Solution

95. Al,O3 — AIN — Al(OH), — Aly,O3. The sequence of these
products involved in

A. Bayer's Process

B. Serpeck’s process

C. Hall's process

D. Hoope's process

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_q8HlO5Wt1jNs
https://dl.doubtnut.com/l/_5yk09u9Likrb

96. The reagent and intermediate product in Halls process are

A.NaOH, NaAlO,

B. NCL2CO3, NaAl02

C.N, + CO, NH;

D. NaOH, AIN

Answer: B

o Watch Video Solution

97. In the purification bauxite by Hall's process

A. The bauxite oreheated with concentrated NaOH solution at 150° C

B. The bauxite ore is heated with Na HC'O;

C. The bauxite ore is mixed with ooke and heated at 1800°C in u

current of N,



https://dl.doubtnut.com/l/_5yk09u9Likrb
https://dl.doubtnut.com/l/_GYG8pWUopNFH
https://dl.doubtnut.com/l/_Sln0Ss8w26U3

D. The bauxite ore is fused with Na;CO3

Answer: D

o Watch Video Solution

98. Match the following

List-I (mineral) List-IT)(type of mineral)

(1)Zircon (a)Sulphate
(2)Monazite (b)Silicate
(3)Pentlandite  (c)Sulphide
(4) Anglesite (d)Phosphate

Corect match is

1 2 3 4

A.
b d c a
1 2 3 4

B.
a b ¢ d
c 1 2 3 4
b c d a
1 2 3 4

D.
a d c b

Answer: A

| ° Wiak A \tAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_Sln0Ss8w26U3
https://dl.doubtnut.com/l/_BpciRSRkv6ze
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99. X' is substance which combines chemically with impurities associated

with the ore to form casily fusible mass'Y! Her X and Yare

A. Flux, slag

B. Slag, flux

C. Gangue, slag

D. Reductant, flux

Answer: A

o Watch Video Solution

100. In Goldsmith thermite process reductant in

A. Coke

B. Aluminium



https://dl.doubtnut.com/l/_BpciRSRkv6ze
https://dl.doubtnut.com/l/_vkE2spbEbMml
https://dl.doubtnut.com/l/_uKjZChYZwBAB

C. Water gas

D.CO

Answer: B

° Watch Video Solution

101. In Goldsmith thermite process, element undergoing oxidation is

A. Chromium

B. Manganese

C. Chromium and Manganese

D. Aluminium

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uKjZChYZwBAB
https://dl.doubtnut.com/l/_kw00514Qzk73

102. In which of the following products are in the molte state
A. Calcination
B. Oxidizing roasting

C.Sulphatizing routing

D. Smelting

Answer: D

° Watch Video Solution

103. Match the following
List-T List-IT
(1)Liquation
(2)Poling (
(3)Cupellation (
(4) (

(a)Volatile metals with non volatile impurit
b)Metal with its metal oxies as impurity
c)Metal with easily oxidisable impurities

4)Distillation (d)Metal and impurities differ in M.P

° Watch Video Solution



https://dl.doubtnut.com/l/_uGxK8Ez8kXe8
https://dl.doubtnut.com/l/_pTn0Fn7P9eU0

104. Various types of one in the blast bumace are given in the List and

reactions take place traction of iron are given in List Il

List-1I List-1I
(1) Zone of reduction (a)C + Oy — CO,
(2) Zone of heat absoroption (b)COy + C — 2CO
(3) Zone of fusion (c)Fey03 + 3CO — 2Fe + 3CO,
1 2 3
A.
a b c
12 3
B.
c b a
c 1 2 3
‘b ¢ a
1 2 3
D.
c a b
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OOUUXGdlKsKQ

105. Match the following :

List-I List-II
(1)vanArkel method (1)Manufacture of caustic soda

(B)Solvay process  (2)Purification of Titanium
(C)Cupellation (3)Manufacture of Nay,CO5
(D)Poling (4)Purification of copper
(5)Refining of silver
A A B C D
2 1 3 4
B A B C D
4 3 2 5
c A B C D
2 3 5 4
b A B C D
5 1 3 4
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_44NQihRiQMla

106. Match the following

List-I (Type of mineral) List-II

(1)Oxide (a)Kaolinite
(2)Carbonate (b)Calamine
(3)Sulphide (c)Copper glance
(4)Silicate (d)Cuprite

S = T
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Answer: A

o Watch Video Solution

107. Match the following

List-I (ore)  List-II(Metal)
(1)Malachite (a)Cu
(2)Siderite  (b)Zn
(3)Sphalerite (c)Fe
(4)Kaolinite (d)Al


https://dl.doubtnut.com/l/_FEC1lnDsGyhz
https://dl.doubtnut.com/l/_J043eTs0u5NP

1 2 3 4
A.
b ¢ a d
1 2 3 4
B.
d b c a
c 1 2 3 4
"a b c d
b 1 2 3 4
"c a d b
Answer: B

° Watch Video Solution

108. Match the following

List - 1
1) Argentite
2) Hom silver
3) Ruby silver
4) Sylvine
The correct match is

1 2 3 4

Ac b d a

B.d b ¢ a

List - 11

a) KCI

b) AgCl

c) Ag.S

d) 3Ag,S.5b,S,



https://dl.doubtnut.com/l/_J043eTs0u5NP
https://dl.doubtnut.com/l/_nQx5l3fxqAhb

Cbc d a

D.d ¢ b a

Answer: C

o Watch Video Solution

109. Match the following

List - 1 List - 11

. Cyanide process 1) Ultrapure Ge

1. Floatation proces b) Pine oil

[Il. Electrolytic reduction ¢) Bxtraction of Al
IV. Zone refining d) Extraction of Au

AAT—c Il —a III—d IV —b

B.B.I—d,II —b,II] —c,IV —a

C.C.T1—c,IT —b,IIT —d,IV —a

D.D.T1—d, Il —a,IIT — ¢, IV — b

Answer: B

| ° Wiak A \NtAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_nQx5l3fxqAhb
https://dl.doubtnut.com/l/_csjmwlzfXTEf
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110. Match the following

List -1 List - 11

1) Puddling process a) Bxtraction of Ag from argentite

2) Bessemer process b) Extraction of Ag from argentiferrous lead,
3) Mac arthur forrest process ¢) Manufacture of wrought iron from pig iron
4) Pattinson’s process d) Manufacture of steel from pig iron.

The correct maich is

1 23 4
A d c a b
B 1 2 3 4
c d a b
1 2 3 4
c d c b a
1 2 3 4
> c db a
Answer: B

o Watch Video Solution

111. (A): Efficiency of the reverberatary furnace is less
(R): The waste gases formed in the fumace reactions leave the furnace

through chimney.


https://dl.doubtnut.com/l/_csjmwlzfXTEf
https://dl.doubtnut.com/l/_qsA5i1dt1cif
https://dl.doubtnut.com/l/_bzecNMvohLH5

A. A and are true, R explains A

B. A and Rare true, Reinot explain A

C.Ais true R is false

D. Ais false R is true

Answer: A

o Watch Video Solution

112. (A): In the smelting of copper pyrites in blast furace, C'uyS formed
but not FeS.
(R): Ca has greater affinity to 'S than to where as fe has greater affinity to
than to's

A. A and are true, R explains A

B. A and Rare true, Reinot explain A

C.Ais true R is false

D. Ais false R is true


https://dl.doubtnut.com/l/_bzecNMvohLH5
https://dl.doubtnut.com/l/_qHDiaCl1zKP3

Answer: A

° Watch Video Solution

Level li Lectrure Sheet Exercise |

1. Which of the following ores is/are oxide ones)?

A. Tinstone
B. Bauxite
C. both

D. Carnallite

Answer: C

° Watch Video Solution

2. Which metalls) is (are) generally found in native state?


https://dl.doubtnut.com/l/_qHDiaCl1zKP3
https://dl.doubtnut.com/l/_dr1q9pZOIEr2
https://dl.doubtnut.com/l/_KDt58duYKA8M

A. Fe

B. Co

C.Au

D. Na

Answer: C

o Watch Video Solution

3.In which of the following pairs, both the minerals are oxides ?

A. Sylvine, salpetreb

B. Galena, litharge

C. Siderite, corundum

D. Cuprite, tinstone Extract

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KDt58duYKA8M
https://dl.doubtnut.com/l/_74atO770KfPU

4. Which of the following processes involves the roasting process.

B. FesO3 + 3C — 2Fe + 3CO

D. Al2032H20 — Al203 + 2H50

Answer: A::C

o Watch Video Solution

5. Which of the following metals is leached by cyanide process a

A Al

B. Na


https://dl.doubtnut.com/l/_74atO770KfPU
https://dl.doubtnut.com/l/_t0HsRob2uiTj
https://dl.doubtnut.com/l/_PN2klrGUCeY4

D. Mg

Answer: C

° Watch Video Solution

6. Hydrometallurgy is useful in the extraction of

A.Sn

B. Al

C.Cu

D. Mg

Answer: C::D

° Watch Video Solution

7. The metal obtained by self reduction process is


https://dl.doubtnut.com/l/_PN2klrGUCeY4
https://dl.doubtnut.com/l/_gR1HYaZdrIH5
https://dl.doubtnut.com/l/_y3EGbYijCW8f

A. Cu

C.Pb

D. Al

Answer: A::B::C

° Watch Video Solution

8.The ore concentrated by electromagnetic separation is

A. Wolframine

B. Haemetite

C. Casseterite

D. Rock salt

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_y3EGbYijCW8f
https://dl.doubtnut.com/l/_DWJotqYVBUeZ

9. Ellingham diagram does not represents

A. Change of AG with temperature
B. Change of AH with temperature
C. Change of AG with pressure

D. Change of (AG — T'AS) with temperature

Answer: B::C::D

o Watch Video Solution

10. Which of the following process makes the one porous?

A.Roasting

B. Calcination

C. Reduction


https://dl.doubtnut.com/l/_DWJotqYVBUeZ
https://dl.doubtnut.com/l/_UiNYJsGJawkU
https://dl.doubtnut.com/l/_U1Os42UTwLc6

D. Distillation

Answer: A::B::C

° Watch Video Solution

11. The extraction of metals from oxide ores involve

A. Reduction with carbon

B. Reduction with aluminium

C. Electrolyte reduction

D. Reduction with CO.

Answer: A::B::C::D

o Watch Video Solution

12. Metals which can be extracted by smelting process are:


https://dl.doubtnut.com/l/_U1Os42UTwLc6
https://dl.doubtnut.com/l/_dRQDfM1uPYet
https://dl.doubtnut.com/l/_sPADREgiI6Yo

A.Pb

B. Fe

C.Zn

D. Al

Answer: A::B::C

o Watch Video Solution

13. Roosting is carried out to

A. convert sulphide to oxide and sulphate

B. remove water of hydration

C. melt the ore

D. remove arsenic and sulphur impurities

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_sPADREgiI6Yo
https://dl.doubtnut.com/l/_kQ9c8vNpDWcF

14. of the following reduction process, correct processes are:

A Fe;O3 + C — Fe
B.ZnO + C — Zn

D. PbO + C — Pb

Answer: A::B::D

o Watch Video Solution

15. Roasting of copper pyrites is done

A. to remove moisture
B. to oxidise free sulphur

C. to decompose pyrite into CusS and Fes


https://dl.doubtnut.com/l/_kQ9c8vNpDWcF
https://dl.doubtnut.com/l/_EdQt3nXx9SMa
https://dl.doubtnut.com/l/_ReSijxfgedUC

D. to remove volatile organic impurities

Answer: A::B::C::D

o Watch Video Solution

16. Highly electropositive metals can not he extracted by carbon

reduction process because these

A. Metals combine with carbon to form carbides

B. Metal oxides are reduced by carbon

C. Metal oxides are not reduced by carbon

D. Loss of metal is more by vaporisation

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_ReSijxfgedUC
https://dl.doubtnut.com/l/_mkFHyZIvrjE3

17. Which one of the following metals can be extracted by aluminothermit

process

A. Manganese
B. Iron
C. Chromium

D. Magnesium

Answer: A::B::C

o Watch Video Solution

18. For which of the following metal the carbon reduction cannot be used

?

A. Lead

B. manganese

C. Tungsten


https://dl.doubtnut.com/l/_7FUzQR3FLb7s
https://dl.doubtnut.com/l/_zVZiFsVPSLqs

D.Iron

Answer: B::C::D

° Watch Video Solution

19. The advantages of using carbon to reduce a number of oxides and

other compounds are

A. easy availability of coke

B. low cost of carbon

C. tendency of carbon to show catenation

D. presence of carbon lowers the melting point of the oxides

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_zVZiFsVPSLqs
https://dl.doubtnut.com/l/_drqSKnTo9g93

20. The disadvantages of carbon reduction method are:

A. high temperature needed which is expensive and requires the use

of a blast furnace

B. many metals combine with carbon forming carbides

C. carbon combines with oxygen to form poisonous CO

D. carbon cannot be used with highly electro-positive metals

Answer: A::B

o Watch Video Solution

21. The chemical treatment of the ore for concentration is done in the

case of

A. aluminium

B. Silver

C. copper


https://dl.doubtnut.com/l/_Xrcs1jcjJ18k
https://dl.doubtnut.com/l/_RWloF1KN5ip9

D. gold

Answer: A::B::D

° Watch Video Solution

22. What are the froth stabilizers in forth floatation process

A. Aniline

B. Pine oil

C. Cresol

D. Xanthate

Answer: A::C

° Watch Video Solution

23. Froth flotation


https://dl.doubtnut.com/l/_RWloF1KN5ip9
https://dl.doubtnut.com/l/_oVaxG0LLaAkw
https://dl.doubtnut.com/l/_1KG0J94Gzbn5

A.is a physical method of separating mineral from the gangue

B.is a method to concentrate the ore depending on the difference in

wetability of gange and there

C.is used for the sulphide ores

D. is a method in which impurities sink to the bottom

Answer: A::B::C::D

o Watch Video Solution

24.The function of adding cryolite in the clectrolytic reduction of alumina

by Hall-Héroult process is to

A. dissolve alumina

B. lower the melting point of alumina

C. Lower the fuel boiling point

D. increase the electrical conducitity of alumina


https://dl.doubtnut.com/l/_1KG0J94Gzbn5
https://dl.doubtnut.com/l/_LNMleKADitz0

Answer: A::B::C::D

° Watch Video Solution

25. Electrolysis method is used for the extraction of

A. Cu

B. Fe

C. Al

D. Na

Answer: C::D

° Watch Video Solution

26. Which of the following equation reprsents smelting process

A ZnCO; > Zn0O + CO,


https://dl.doubtnut.com/l/_LNMleKADitz0
https://dl.doubtnut.com/l/_HPE24nCSCS4Q
https://dl.doubtnut.com/l/_Eie1TnoYQGiS

B.2PbS + 30, —— 2PbO + 250,
C. Al,Os. 3H,0 —=s Al,Os + 3H,0

D. FeOs3 4+ 3C — 2Fe + 3C0O

Answer: D

° Watch Video Solution

27. In the extraction of which of the following metals is used for

amalgamation?

A Ag
B. Au
C.Cu

D. Fe

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_Eie1TnoYQGiS
https://dl.doubtnut.com/l/_iJC1fVXQ0MIC

28. The flux that can be used for the removal of hasic impurities like

Cound Fe from anore is (are)

A. 510,

B. NG,2B4O710H2

C. MQCO?,

D. CGCO:J,

Answer: A::B

o Watch Video Solution

29. Chemical reduction is used in the extraction of

A. Chromium

B. Manganese

C. Copper


https://dl.doubtnut.com/l/_iJC1fVXQ0MIC
https://dl.doubtnut.com/l/_Ehc421ghhpdk
https://dl.doubtnut.com/l/_GeWV1GHZbtbt

D.Iron

Answer: A::B

° Watch Video Solution

30. Bessemerisation is used in the metallurgy of

A Al

B. Fe

C.Cu

D. Ag

Answer: B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_GeWV1GHZbtbt
https://dl.doubtnut.com/l/_6umGzUg9KWDK

31. Electro-metallurgical process (electrolysis of fused electrolyte) is

employed to extract

A.lron

B. Al

C. Silver

D. Sodium

Answer: B::D

o Watch Video Solution

32. Electrolytic reduction is used in the extraction of

A. Magnesium

B. Sodium

C. Aluminium

D. Gold


https://dl.doubtnut.com/l/_MtGXr7tsKs8e
https://dl.doubtnut.com/l/_HfqC6bBgJbup

Answer: A::B::C

° Watch Video Solution

33. Carbon is used as a common reducing agent in the extraction of

A Ag

B.Zn

C.pb

D. Fe

Answer: B::C::D

° Watch Video Solution

34.The smelting of iron in a blast furnace involves the following process

except


https://dl.doubtnut.com/l/_HfqC6bBgJbup
https://dl.doubtnut.com/l/_LcCrY3zh1JmK
https://dl.doubtnut.com/l/_37iZqSUGb1PV

A. Combustion

B. reduction

C.Slag formation

D. sublimation

Answer: A::B::C

o Watch Video Solution

35. Which of the following reaction in the blast furnaces are endothermic
?

A.C(s) + Oz(g) < COz(g)

B.CO;y(4) +C(5) & 2C0 )

C.CaCO3(,5) & CaO0,) + COy(g)

D. FezO?,(s) + 300(9) < 2Fe(l) + 3002(9)

Answer: B::C

~


https://dl.doubtnut.com/l/_37iZqSUGb1PV
https://dl.doubtnut.com/l/_f1NuekvRQD9b

| ° Watch Video Solution

36. Silver is extracted by

A. Cupellation method

B. Parke's process

C. Pattinson's process

D. All

Answer: D

° Watch Video Solution

37.In the electrolysis of alumina cryolite is added to:

A. lower the melting point of alumina

B. increase the electrical conductivity

C. both


https://dl.doubtnut.com/l/_f1NuekvRQD9b
https://dl.doubtnut.com/l/_jeGQkOjrIwoO
https://dl.doubtnut.com/l/_M77hRUtJbLsV

D. remove impurities from alumina

Answer: C

° Watch Video Solution

38. Which of the following metals) can be obtained by electrolysis of their

aqueous salt solutions

A Ag

B. Mg

C.Cu

D.Zn

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_M77hRUtJbLsV
https://dl.doubtnut.com/l/_mG5HrJDYRt0u

39. Electrolytic process is used for the extraction of

A. Alkali metal

B. Alkaline earth metals

C.Al

D. All

Answer: D

o Watch Video Solution

40. Which of the following contains) aluminium

A. Feldspar

B. Epson

C. Fluorspar

D. Flourite


https://dl.doubtnut.com/l/_1QzoL4BHdGkX
https://dl.doubtnut.com/l/_14jGnRKQjBW8

Answer: A

° Watch Video Solution

41. Which of the following mineralores contains magnesium?

A. Magnetite
B. Magnesite
C. Asbestos

D. Carnalite

Answer: B::C::D

° Watch Video Solution

42. Which of the following is are present in mica?

A K


https://dl.doubtnut.com/l/_14jGnRKQjBW8
https://dl.doubtnut.com/l/_Wbn8u0XKQMI8
https://dl.doubtnut.com/l/_iQNsylizdU6d

B. Al

C.Si

D.Ca

Answer: A::C::D

° Watch Video Solution

43. Which is (are) ore (s) of almun num?

A. Cryolite

B. Buite

C. Malachite

D. Cupeite

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_iQNsylizdU6d
https://dl.doubtnut.com/l/_RuhBvJ9NjfGq

Level li Lectrure Sheet Exercise li Passage |

1. Electrolysis is an important technique for extraction of metals and each
low of the solution needs a minimum voltage to get discharged and this
value is expressed in terms of discharge potential. For some metal ions
the discharge potentials follow the order give below :

Lit > K" > Ca®>" > Nat > Mg*>" > AP > Zn?" > Fe?t > Ni®*
For some anions the discharge potentials are in the order:

SO~ > NO; >OH ™ > Br~ >1"

When aqueous solution of cuprous bromide is electrolysed the product

obtained a cathode will be

A.Cu
B. H,
C. B’I"2

D. O,

Answer: A

| O A _L vl . o e~_ ..o ]



https://dl.doubtnut.com/l/_5Ig7BPPt4xXc

L T vvaillll VIUCO o01IULiVIl )

2. Electrolysis is an important technique for extraction of metals and each
low of the solution needs a minimum voltage to get discharged and this
value is expressed in terms of discharge potential. For some metal ions
the discharge potentials follow the order give below :

Lit > K" >Ca®" > Na™ > Mg*>" > AP > Zn®>T > Fe?' > Ni? 7T
For some anions the discharge potentials are in the order:

SO~ > NO; >OH™ > Br~ >1"

The product formed at anode and cathode, when dilute H2.So04 is

electrolysed are

A. SO,, H,
B. SO3, H,
C. HQS208

D. 02, H2

Answer: D

I ° Watch Video Solution


https://dl.doubtnut.com/l/_5Ig7BPPt4xXc
https://dl.doubtnut.com/l/_7HDaIVRTdKaK

3. Electrolysis is an important technique for extraction of metals and each
low of the solution needs a minimum voltage to get discharged and this
value is expressed in terms of discharge potential. For some metal ions
the discharge potentials follow the order give below :

Lit > K" >Ca®>" > Na™ > Mg*" > AP > Zn?" > Fe?t > Ni**
For some anions the discharge potentials are in the order:

SO;~ >NOy >OH > Br >1"

A mixture containing chlorides of sodium, calcium and zinc is electrolysed

in presence of water The product obtained at cathode will be

A. NaCl
B. H,
C.Ca

D.Zn

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7HDaIVRTdKaK
https://dl.doubtnut.com/l/_d8lBpEJKOYay

4. Electrolysis is an important technique for extraction of metals and each
low of the solution needs a minimum voltage to get discharged and this
value is expressed in terms of discharge potential. For some metal ions
the discharge potentials follow the order give below :

Lit > K" > Ca®" > Na™ > Mg®>" > AP > Zn®>T > Fe?t > N2
For some anions the discharge potentials are in the order:

SO~ > NO; >OH > Br~ >1"

When cone. HySOy is electrolysed with high current density using Pl

clectrodes, the product obtained at anodes

A. S50,
B. SOs
C. Oy

D. H,5,04

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_d8lBpEJKOYay
https://dl.doubtnut.com/l/_LhZ7J3KTWqIG

5. Electrolysis is an important technique for extraction of metals and each
low of the solution needs a minimum voltage to get discharged and this
value is expressed in terms of discharge potential. For some metal ions
the discharge potentials follow the order give below :

Lit > K" > Ca®>" > Nat > Mg*>" > AT > Zn?" > Fe?t > Ni®*
For some anions the discharge potentials are in the order:

SO~ > NO; >OH ™ > Br~ >1"

When aqueous NaCl is electrolysed by using Hg electrode, the product

obtained at cathode is

A. Na-Hg amalgam
B. Na
C. H

D.Hg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LhZ7J3KTWqIG
https://dl.doubtnut.com/l/_roiieUiNW55X

Level li Lectrure Sheet Exercise li Passage li

1. For a spontaneous reaction, the free energy change must be negative.
AG = AH — TDelaS is the enthalpy change during the reaction. T is
absolute temperature, and AS is the change in entropy during the
reaction. Consider a reaction such as the formation ofan oxide .

M+ O,MO

Dloxygen is used wp in the course of this reaction. Gases have a more
random structure (less ordered) than liquid or solids consequently gases
have a higher entropy than liquids and solids, in this reaction (entropy or
randomness) decreases, hence is negative. Thus, the temperature is
raised the AS becomes more negative. Since, TAS is subtracted in the
equation, then SG becomes less negative. Thus, the free energy changes
increases with the increase in temperature.

The free energy changes that occur when one mole of common reactant
in this case dioxygen) is we may e plotted graphically against
temperature for a number of reactions of metals to their oxides. The
following plot is called an Ellingham diagram for metal oxide.

Understanding of Ellingham diagram is extremely important for the


https://dl.doubtnut.com/l/_2mts2JTW2iJd

efficient extraction of metals.

Change in free Encrgy
4 G" k) mol'

For the conversion of Ca(s) to CaO(s) which of the following represent the

AGvsT:

AG
-1100
kj/mol

A Temp


https://dl.doubtnut.com/l/_2mts2JTW2iJd

}

-1100
kj/mol

T—= 1800°C
B. Temp

C.
L
« 1300
kjfmol
T=* 1800"C
D. Temp
Answer: C

° Watch Video Solution

2. For a spontaneous reaction, the free energy change must be negative.
AG = AH — TAS is the enthalpy change during the reaction. T is
absolute temperature, and AS is the change in entropy during the

reaction. Consider a reaction such as the formation ofan oxide .


https://dl.doubtnut.com/l/_2mts2JTW2iJd
https://dl.doubtnut.com/l/_skYYOa9mVSaZ

M+ O,MO

Dloxygen is used wp in the course of this reaction. Gases have a more
random structure (less ordered) than liquid or solids consequently gases
have a higher entropy than liquids and solids, in this reaction (entropy or
randomness) decreases, hence is negative. Thus, the temperature is
raised the AS becomes more negative. Since, TAS is subtracted in the
equation, then SG becomes less negative. Thus, the free energy changes
increases with the increase in temperature.

The free energy changes that occur when one mole of common reactant
in this case dioxygen) is we may e plotted graphically against
temperature for a number of reactions of metals to their oxides. The
following plot is called an Ellingham diagram for metal oxide.
Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals.


https://dl.doubtnut.com/l/_skYYOa9mVSaZ

Change in frec Encrgy
& G" kJ mol”!

Free energy change of Hg and Mg for the convertion to oxides the slope

of AG. T has been changed above the boiling points of the given metal
because

A. above the boiling point of the metal entropy is increased

B. above the boiling point of the metal the entropy is decreased

C. above the boiling point of the metal the entropy change is equal to

Zero


https://dl.doubtnut.com/l/_skYYOa9mVSaZ

D. All of these

Answer: A

o Watch Video Solution

3. For a spontaneous reaction, the free energy change must be negative.
AG = AH — TAS is the enthalpy change during the reaction. T is
absolute temperature, and AS is the change in entropy during the
reaction. Consider a reaction such as the formation ofan oxide .

M+ O,MO

Dloxygen is used wp in the course of this reaction. Gases have a more
random structure (less ordered) than liquid or solids consequently gases
have a higher entropy than liquids and solids, in this reaction (entropy or
randomness) decreases, hence is negative. Thus, the temperature is
raised the AS becomes more negative. Since, TAS is subtracted in the
equation, then SG becomes less negative. Thus, the free energy changes
increases with the increase in temperature.

The free energy changes that occur when one mole of common reactant


https://dl.doubtnut.com/l/_skYYOa9mVSaZ
https://dl.doubtnut.com/l/_We1rotg3XOos

in this case dioxygen) is we may e plotted graphically against
temperature for a number of reactions of metals to their oxides. The
following plot is called an Ellingham diagram for metal oxide.
Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals.

Change in frec Encrgy
A G" k) mol!

IL I
) WEw i e
T-_,T

Which of the following elements can be prepared by heating the oxide

above 400°C'?

A Hg

B. Mg


https://dl.doubtnut.com/l/_We1rotg3XOos

C.Fe

D. Al

Answer: A

o Watch Video Solution

4. For a spontaneous reaction, the free energy change must be negative.
AG = AH — TAS is the enthalpy change during the reaction. T is
absolute temperature, and AS is the change in entropy during the
reaction. Consider a reaction such as the formation ofan oxide .

M+ O, MO

Dloxygen is used wp in the course of this reaction. Gases have a more
random structure (less ordered) than liquid or solids consequently gases
have a higher entropy than liquids and solids, in this reaction (entropy or
randomness) decreases, hence is negative. Thus, the temperature is
raised the AS becomes more negative. Since, TAS is subtracted in the
equation, then SG becomes less negative. Thus, the free energy changes

increases with the increase in temperature.


https://dl.doubtnut.com/l/_We1rotg3XOos
https://dl.doubtnut.com/l/_gEAbEKmz6BhZ

The free energy changes that occur when one mole of common reactant
in this case dioxygen) is we may e plotted graphically against
temperature for a number of reactions of metals to their oxides. The
following plot is called an Ellingham diagram for metal oxide.
Understanding of Ellingham diagram is extremely important for the

efficient extraction of metals.

Change in frec Encrgy
AG" k) mol”

L
way  mems  VEm s TN

As per the Ellingham diagram of oxides which of the following conclusion

is true?

A. Al reduces Fe;O5 whereas MgO cannot be reduced by Al at 1500° C'


https://dl.doubtnut.com/l/_gEAbEKmz6BhZ

B. Fe reduce Al;O3, whereas MgO cannot be reduced by Al at 1500° C

C. Al reduce Fe;O3 whereas MgO cannot be reduced by Al at 1500° C

D. Al can reduce both FesO3 and Mgo to be corresponding metal at

1500° C

Answer: A

° Watch Video Solution

Level li Lectrure Sheet Exercise li Passage lii

1. Extraction of Aluminiunt can be understood by :

Bauxite Cong. of ore by Pure All.umnui
L
AIJU|2H£0 n‘lcl'l‘llLllTnH.ll'ﬂl .I"\:IJ_(_}‘ N
Reduction of aluming Al impure
Wy electrolysis !
Pum hl .' ‘.IT::I“?_‘HT.-I.' ‘
| ] ol o~

Liimdcle ghe P £ e ner


https://dl.doubtnut.com/l/_gEAbEKmz6BhZ
https://dl.doubtnut.com/l/_Py3c3IAX75wj

Electrolytic reduction of Aly,Oj3:

Electrolyte :(Al,O3 + Cryolite)
Cathode :Graphite inside the Fe container
Anode :Graphite rods

The purpose of adding cryolite is

A. to increase the electrical conductivity of pure aluminium
B. to lower the melting point of Al,O3
C. to remove the impurities as slag

D. to increase the Al %in the yield

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Py3c3IAX75wj

2. Extraction of Aluminiunt can be understood by :

_B:I.I.H:l.ll-: Cong . of oie F!.I_TE Fl.hl;‘ll;:;
—TFerical meihed "
&IJDI'F":HJ:_G “Chemical methed "ﬁf?i_”r -
FI.I'"LI . r
Reduction of alumina _[ impure
¥ eheotmlysia 4
Iqug .e'k-l']q_._ - I

.U'!I.ﬂ._ wevsp mifleal prs
rrufls sl gl 1 lesag
srninbe e e O osiainer

Electrolytic reduction of Aly,Oj3:

Electrolyte :(Al2Os + Cryolite)
Cathode :Graphite inside the Fe container
Anode :Graphite rods

Coke powder is spreaded over the molten electrolyte to

A. prevent the heat radiation lies from the surface
B. prevent the corrosion of graphite anode

C. prevent oxidation of molten aluminium by air

D. both (a) & (b)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UUm6u2ysQuyJ

3. Extraction of Aluminiunt can be understood by :

ﬁﬁﬁ Cong. of ore by Pure Alumina
~Chemical method
Al,O,.2H,0 ALO,
Reduction ol alumina Al impure
Ty electrolysis
[Purc A_l] - Mhecriilysis I

Ti.l.n.t anpapes indeul gn nrhln-
weral vl mneh £ Babigt
Lrmmdclhe e Pe ol ner

Electrolytic reduction of Al,O3:

Electrolyte :(Al203 + Cryolite)

Cathode :Graphite inside the Fe container
Anode :Graphite rods

The function of fluorur (CaF3) is

A. to decrease the melting point of electrolyte

B. to increase electrolytic conductivity power
C. to remove the impurities as slag

D. all of the above

Answer: A



https://dl.doubtnut.com/l/_UUm6u2ysQuyJ
https://dl.doubtnut.com/l/_tP8mQ035Nb1v

I o Watch Video Solution

4. Extraction of Aluminiunt can be understood by :

-H-I.Il.lli ite Cone. of ore by EF’““: Alumina
il = -+
ALO,2H,0] ChemiaTmediod Ta) 0, _
I -
Raduction ol aluminae Al unpurc
~ Wy electrolysis
IFI._:I‘I_'." Ai]q oo I

ﬁu.rm wrpmmdes) graphise
revida el mnsl O Bedig
bndcle B e A oo nd e

Electrolytic reduction of Al,O3:

Electrolyte :(Al203 + Cryolite)
Cathode :Graphite inside the Fe container
Anode :Graphite rods

The molten electrolytes contains Na™, Ca?", Ca?" but only Al get
deposited at cathode because :

A. standard reduction potential of Al is more than those of Na & Ca

B. Standard oxidation potential of Al is more than those of Na & Ca

C. Discharge potential of A" is higher than Na™ & Ca™

D. Graphite reacts only with AI** and not with Na ™ &Ca®*


https://dl.doubtnut.com/l/_tP8mQ035Nb1v
https://dl.doubtnut.com/l/_YJQAbUWcvIgz

Answer: A

° Watch Video Solution

Level li Lectrure Sheet Exercise li Passage Iv

1. The heating process for the extraction of elements are quite old but

highly acceptable method for the extraction of elements. Become in this
process the elements produced is in the highly pure state. Mostly
As, Sb, Ni, Zr, B etc are prepared by this principle 4 mumber of metal
sulphides which may be reated first in air to partially convert them to the
aride, and then further roasted in the absence of air, wing self reduction.

How does impure Ni is purified

A A
A.impure Ni+ COy — N’LCOg — NiO + COy — NZ(S)
B. impure
Condensation

Ni + 0 28 Ni(CO),(g) 2 Nis + Colg) 9 ()

pure


https://dl.doubtnut.com/l/_YJQAbUWcvIgz
https://dl.doubtnut.com/l/_9gDpSFuXtsg6

C.impure Ni + CO, Ak Ni(CO),, (s) 2, Ni(s) + CO(g)

D.impure Ni + CO il { Ni(CO),(g9) il Ni(c) + CO(g)

Answer: B

o Watch Video Solution

2. The heating process for the extraction of elements are quite old but
highly acceptable method for the extraction of elements. Become in this
process the elements produced is in the highly pure state. Mostly
As, Sb, Ni, Zr, B etc are prepared by this principle 4 mumber of metal
sulphides which may be reated first in air to partially convert them to the
aride, and then further roasted in the absence of air, wing self reduction.

In the purification Zr and Ti, which of the following is/are true

passed over . .
A Zr 4+ 2I, — Zrly —— the pure Zr is deposited on W :
the white hot w

. . passed over . .
B.T% + 21, — Tily ———  the pure Tiis deposited on W :
the white hot w

mixed with W .
C.Zr + 21, — Zrly ——  Zrl, is reudced to Zrl,
& then heated


https://dl.doubtnut.com/l/_9gDpSFuXtsg6
https://dl.doubtnut.com/l/_233Rwin8lgNd

D.Both a & b are correct

Answer: D

o Watch Video Solution

3. The heating process for the extraction of elements are quite old but
highly acceptable method for the extraction of elements. Become in this
process the elements produced is in the highly pure state. Mostly
As, Sb, Ni, Zr, B etc are prepared by this principle 4 mumber of metal
sulphides which may be reated first in air to partially convert them to the
aride, and then further roasted in the absence of air, wing self reduction.

For which of the given sulphides auto reduction is applicable

A. CuS

B. PbS

C. HgS

D. All


https://dl.doubtnut.com/l/_233Rwin8lgNd
https://dl.doubtnut.com/l/_GadMwLTFG2bF

Answer: D

o Watch Video Solution

4. The heating process for the extraction of elements are quite old but
highly acceptable method for the extraction of elements. Become in this
process the elements produced is in the highly pure state. Mostly
As, Sb, Ni, Zr, B etc are prepared by this principle 4 mumber of metal
sulphides which may be reated first in air to partially convert them to the
aride, and then further roasted in the absence of air, wing self reduction.

The Hy(g) is not widely used as a reducing agent because

A. H, decompose to atomic hydrogen at higher temperature
B. H, isomerises to orthohydrogen at higher temperature
C. many metal form hydrides at lower temperature

D. there is also a risk of explosion from hydrogen and dioxygen in air

Answer: C

(s @ 00 |


https://dl.doubtnut.com/l/_GadMwLTFG2bF
https://dl.doubtnut.com/l/_jLDhBr77ybCv

[ @ Watch Video Solution ]

Level li Lectrure Sheet Exercise li Passage V

1. The Killingham diagram for sing, magnesium and carbon converting

into corresponding oxides is shown below :

i i L
i1 [ 1=, STHND
Temnpesiume, °C 8=

At what temperature, zinc and carbon have equal affinity for oxygen?

A.1000°C

B.1500° C


https://dl.doubtnut.com/l/_jLDhBr77ybCv
https://dl.doubtnut.com/l/_n9bjYtnbTPoM

C.500°C

D. 1200°C

Answer: A

o Watch Video Solution

2. The Killingham diagram for sing, magnesium and carbon converting

into corresponding oxides is shown below :

To make the following reduction process spontaneous, temperature

should be


https://dl.doubtnut.com/l/_n9bjYtnbTPoM
https://dl.doubtnut.com/l/_4EGOVQIFYFdl

A.1000°C

B. > 1100°C

C. < 5000°C

D. < 1000°C

Answer: B

o Watch Video Solution

3. The Killingham diagram for sing, magnesium and carbon converting

into corresponding oxides is shown below :


https://dl.doubtnut.com/l/_4EGOVQIFYFdl
https://dl.doubtnut.com/l/_JJMrL3SdUDEm

Rl L1 ] | - m

At 1000° C which reaction is spontaneous to a maximum extent ?

A MgO +C — Mg+ CO

B.ZnO + C — Zn + CO

C.MgO + Zn — Mg + ZnO

D. ZnO + Mg — MgO + Zn

Answer: D

° Watch Video Solution

Level li Lectrure Sheet Exercise li Passage Vi


https://dl.doubtnut.com/l/_JJMrL3SdUDEm
https://dl.doubtnut.com/l/_3LvPtNnyERxE

1. The Ellingham diagram for a number of metallic sulphides is shown

below

’ ! i ——
bt I 1 8 15m ot i |
Terporsare Y =—

Formation of which of the sulphides is most spontaneous ?

A. HgS

B. Bi2S3

C. PbS

D.CS

Answer: C



https://dl.doubtnut.com/l/_3LvPtNnyERxE

_ o Watch Video Solution

2. The Ellingham diagram for a number of metallic sulphides is shown

below

_*—
0 By 1500 2

Ermperatate, ' =

Which sulphide occurs to minimum extent in nature

A. HgS

B.HyS

C. Bil2S5

D.CSs


https://dl.doubtnut.com/l/_3LvPtNnyERxE
https://dl.doubtnut.com/l/_bW73gHTnypFe

Answer: D

° Watch Video Solution

3. The Ellingham diagram for a number of metallic sulphides is shown

below

A 0Em 1S ZLnu
Trmposatate, 1) =

Which of the following sulphides can not be reduced to metal by H, at

about 1000° ¢

A. HgS

B. PbS


https://dl.doubtnut.com/l/_bW73gHTnypFe
https://dl.doubtnut.com/l/_VFI8VeQccRFK

C. BiySs3

D. All of these

Answer: B

° Watch Video Solution

Level li Lectrure Sheet Exercise li Passage Vii

1. Magnesium is a valuable, light weight metal used as a structural

material as well as in alloy hatteries and in chemical s . Although
magnesium is plentiful in Earth s maire found in the sea water after
sodium). There is about 1.3 8 of magnesium in every kilogram of se water.
The process for obtaining magnesium from en water employs all three
types of reaction Le precipitation, acid-base, and redox reactions

Acid-base reaction involves reaction between :

A. MgCO3 and HCI

B. Mg(OH), and H,SO,


https://dl.doubtnut.com/l/_VFI8VeQccRFK
https://dl.doubtnut.com/l/_vCn5TZVWseNo

C. Mg(OH), and HCI

D. MgCO3 and H2SO4

Answer: C

o Watch Video Solution

2. Magnesium is a valuable, light weight metal used as a structural
material as well as in alloy hatteries and in chemical s . Although
magnesium is plentiful in Earth s maire found in the sea water after
sodium). There is about 1.3 8 of magnesium in every kilogram of se water.
The process for obtaining magnesium from en water employs all three
types of reaction Le precipitation, acid-base, and redox reactions

Redox reaction takes place in the extraction of Mg :

A.in the electrolytic cell when fuse MgCl, is subjected to electrolysis

B. when fused MgCQOs is heated

C. when fused MgCOjsis strongly heated


https://dl.doubtnut.com/l/_vCn5TZVWseNo
https://dl.doubtnut.com/l/_cdaNNgZtqEBm

D. none of the above

Answer: A

° Watch Video Solution

Level li Lectrure Sheet Exercise li Passage Viii

1. F60T204 + NaOH + air — (A) + F6203(A) + (B) — NG,QC’I’207

NayCryOq + X — Cry, 05Cry + Y(A) = Cr
Compounds (A) and (B) are :

A. NG,QC’I"O4. H2SO4

B. NG,2C’I"207, HC(CI

C. NCL207'O5, H2504

D. Nay [Fe(OH)ﬁ} . Hy,S0,

Answer: A



https://dl.doubtnut.com/l/_cdaNNgZtqEBm
https://dl.doubtnut.com/l/_6LKYIGRFonlj

L T vvaldnl vidcoO o01ution J

2. FeCry04 + NaOH + air — (A) + Fe;03(A) + (B) — NayCry0O;
A
NGQCT’QO'y + X — CT’3, 0307"3 + Y(A) — Cr
(X) and (Y) are:
A.Cand Al
B.Aland C

C.Cin both

D. Al in both

Answer: A

° Watch Video Solution

3. FeCry04 + NaOH + air — (A) + Fes03(A) + (B) — NayCryO;
NayCryOr + X —=5 Crg, 05Crs + Y(A) — Cr

NayCrO4 and FeyOj3 are separated by :


https://dl.doubtnut.com/l/_6LKYIGRFonlj
https://dl.doubtnut.com/l/_yn24msgSmcql
https://dl.doubtnut.com/l/_uE5XakojqnTg

A. dissolving in conc HySOy

B. dissolving in NHj

C.dissolving in H,O

D. dissolving in dil. HCI

Answer: C

° Watch Video Solution

Level li Lectrure Sheet Exercise lii

1. Match the following questions Match Column (Metal) with Column -1

(Process of extraction) and select the correct answe using the codes

given below the Columns

COLUMN -1
(Mital)

A) Aluminium
B) Iron

C) MNickel

D) Copper

COLUMN - 11

i Provess of extraction)
p) Blast furnace

gq) Mond’'s process
r} Bayer's process

s} Froth floatation

I o View Text Solution


https://dl.doubtnut.com/l/_uE5XakojqnTg
https://dl.doubtnut.com/l/_LdLmmrrseXcs

2. Match Column-1 with Column - Il and select the correct answer using

the codes given below the Columns :

COLUMN -1 COLUMN - 11

A)Van Arkel method p) Refining of silver
B)Solvay process q) Purification of titanium
C) Cupellation r) manufacture of Na,CO,
D)Poling s) Purification of copper

° Watch Video Solution

3. Match Column with Columll and select the correct answer using the

codes given below Columns:

COLUMN -1 COLUMN -1
iMineral) iFormula}

A) Mirabilite p) ALO,. 28i0,.2H,0
B) Kaolin q) CuFeS,

C) Chalcopyrite 1) 2Fe,0,.3H,0

D) Limonite 3) No SO, 10H,0

° Watch Video Solution



https://dl.doubtnut.com/l/_LdLmmrrseXcs
https://dl.doubtnut.com/l/_9M2zam7Z1TKj
https://dl.doubtnut.com/l/_BdeL8SRAtAAj

4. Match Column - with Column Il and select the correct answer using the

codes given below the Columns :

COLUMN -1 COLUMN = 11
(Metals) {Dres)

AdZine P) Azuriic
B)Tin q) Carnalite
C)Copper t) Calamine
D)Magnesium s) Cassiterite
o Watch Video Solution

5. Match Column with Column - Il and select the correct answer using the

codes given below Columns :

COLUMN -1
A) Bauxite

B) Monazite
C) Malachite
D) Pitch blende

COLUMN - 1l
p) Copper

q) Uranium

) Thorium

5) Aluminium

° Watch Video Solution



https://dl.doubtnut.com/l/_NKFAWEhTheqC
https://dl.doubtnut.com/l/_C0G9L0FeGuHs

6. Match the extraction processes listed in Column with metals listed in

Column:
COLUMN -1 COLUMN - 11
A) Self reduction p) Lead
B) Carbon reduction q) Silver
C) Complex formation and r) Copper
displacement by metal
D) Decomposition of iodide 8) Boron

° Watch Video Solution

7. Match the following columns
COLUMN -1 COLUMN -1
A) poling p) Titanium
B) Cupellation q) Copper
C) Electro refining r) Silver
D) van arkel method : §) Tin

° Watch Video Solution



https://dl.doubtnut.com/l/_Tlaihf0AsxVa
https://dl.doubtnut.com/l/_FzlfdZMOlpQV

8. Match the

following columns

COLUMN - 1 COLUMN - 11

A) Mond's process
B) van Arkel process
C) Thermite process
D) Kroll's process

A

p) Cr,0, + 2A1 —— 2Cr + ALO,

A

9 TiCl, + 2Mg —2 Ti + 2MgQY,
1) Ni(€0), —25 Ni + 4C0
§)Zel, =2 Ze 421,

° Watch Video Solution

9, Match the

COLUMN -1
A) Pb
B) Cu
C) Zn
D) Fe (Steel)

following columns

COLUMN - 1IN
p) Bessemerisation
) Roasting

r) Pyrometallurgy
8) Self - reduction method

° Watch Video Solution

Practice Sheet 1 Single Or More Than One Option Questions

1. The froth-floation process is based upon



https://dl.doubtnut.com/l/_x6O4ZyRKjLSO
https://dl.doubtnut.com/l/_UxXsAAgf4ybg
https://dl.doubtnut.com/l/_ZzftXgsLycyP

A. magnetic properties of gange

B. specific gravity of ore particles

C. prefential wetting of ore particles

D. preferential wetting of gangue

Answer: C

o Watch Video Solution

2. The process of removing of lighter ganse particles by washing in a

current of water is called

A. levigation

B. liquation

C.leaching

D. cupellation

Answer: A



https://dl.doubtnut.com/l/_ZzftXgsLycyP
https://dl.doubtnut.com/l/_aRJ6PsZTW8AJ

| o Watch Video Solution

3. Gravity separation method is based upon

A. prefential washing of ores and gangue particles

B. diferences in dinsities of ore particles and impurities

C. diferences in chemical properties of ore particles and impurities

D.none

Answer: B

o Watch Video Solution

4. Which of the following is a foaming agent in froth flation process

A. pine oil

B. amyl xanthate

C. CUSO4


https://dl.doubtnut.com/l/_aRJ6PsZTW8AJ
https://dl.doubtnut.com/l/_wHZeEbuf2Mxv
https://dl.doubtnut.com/l/_z8XB0WUCZ5I4

D. KCN

Answer: A

° Watch Video Solution

5. The substance used as an activator in froth floation process

A. Potasium ethyl xanthate

B. NaCN

C.CuS0y

D. pipe oil

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_z8XB0WUCZ5I4
https://dl.doubtnut.com/l/_6WXr6EyYIWvE

6. Which of the following is used as depressant in froth floatation

process.

A. Amyl xanthate

B. pine oil

C.CuS0y

D. KCN

Answer: D

o Watch Video Solution

7.Rutile is seperated from chlonapatite by

A. Froth floation method

B. levigation

C. electromagnetic seperation method

D. electrostatic seperation method


https://dl.doubtnut.com/l/_PxUpR31i8qXv
https://dl.doubtnut.com/l/_eOf1vMPjsLQb

Answer: C

° Watch Video Solution

8.Roasting process is applied to which of the following ores

A. Galena

B. arsenoprites

C. copperglance

D. all

Answer: D

° Watch Video Solution

9.In which of following ces calcination process is not appliable

A.CaCOs3


https://dl.doubtnut.com/l/_eOf1vMPjsLQb
https://dl.doubtnut.com/l/_0xVKhWTdHjUi
https://dl.doubtnut.com/l/_1URLqNLHzH7S

B. Al,032H,0
C.CuCOs. Cu(OH),

D. ZnS

Answer: D

° Watch Video Solution

10. Calcination is used in metallurgy for removal of

A. water and sulphide

B. water and CO,

C. HQO and HgS

D.water and CO, and H,S

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1URLqNLHzH7S
https://dl.doubtnut.com/l/_qnWi8lxY3bY5
https://dl.doubtnut.com/l/_B1PY29ugMy1z

11. Carbonate ores are mostly of

A. group 1 elements b) group

B. group 2 element

C. group 3 elements

D. group 4 elements

Answer: B

o Watch Video Solution

12. Of the following the metals that cannot be obtained by eletrolysis at

the aqueous solution of their salts are

A Ag

B. Mg

C.Cu

D. Al


https://dl.doubtnut.com/l/_B1PY29ugMy1z
https://dl.doubtnut.com/l/_n32xOXYbEuoU

Answer: B::D

° Watch Video Solution

13. Which of the following minerals contains Fe

A. magnetite

B. magnesite

C.siderite

D. lemonite

Answer: A::C::D

° Watch Video Solution

14. Which of the following ore is/are extracted from its oxide by sir

reduction method


https://dl.doubtnut.com/l/_n32xOXYbEuoU
https://dl.doubtnut.com/l/_02uMNFGXozNK
https://dl.doubtnut.com/l/_QozIu9DgZ6Mp

A. Cu

C. Al

D.Pb

Answer: A::B::D

o Watch Video Solution

15. Beryl is mineral of

A. Be

B. Al

C. Mg

D. Fe

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_QozIu9DgZ6Mp
https://dl.doubtnut.com/l/_Q4XuaL1TpS0B

16. Bistler copper is purified by

A. paling

B. cupellation

C. electro refining

D. Bessemeiziation

Answer: A::C

° Watch Video Solution

Practice Sheet 1 Passage |

1. Silver metal is extracted from Ag,S by cyanide process. The one is
concentrated through froth floation process. The concentrated ore is the

leached and solution is r ed with reducing agents to get spongy silver


https://dl.doubtnut.com/l/_Q4XuaL1TpS0B
https://dl.doubtnut.com/l/_mERBWQGa9pyB
https://dl.doubtnut.com/l/_haHdRPlUbL1K

which then purified by fusion with an oxidant followed by electrolysis.

Leaching of Ag,S is carried out by heating it with a dilute solution of

A.NaCN alone

B. NaCN in presence of O,

C. HCl

D. NaOH

Answer: B

o Watch Video Solution

2. Silver metal is extracted from Ag,S by cyanide process. The one is
concentrated through froth floation process. The concentrated ore is the
leached and solution is r ed with reducing agents to get spongy silver
which then purified by fusion with an oxidant followed by electrolysis.

Ag is precipitated from an aqueous solution of sodium argentocynide by

adding


https://dl.doubtnut.com/l/_haHdRPlUbL1K
https://dl.doubtnut.com/l/_77WyYPZcMmTs

A.Zn dust

B. Cu power

C. NaHg

D. Na25203

Answer: A

o Watch Video Solution

3. Silver metal is extracted from Ag,S by cyanide process. The one is
concentrated through froth floation process. The concentrated ore is the
leached and solution is r ed with reducing agents to get spongy silver
which then purified by fusion with an oxidant followed by electrolysis.

Which of the following statements about electrolytic refining of silver is

not true

A. Anode consists of impure silver

B. cathode consists of pure silver


https://dl.doubtnut.com/l/_77WyYPZcMmTs
https://dl.doubtnut.com/l/_wQwm1YnQP2Rb

C. Electrolytic solution consists of AgNO3 and HNO;

D. Elecipitated solution consists of AgNO3; and HCI

Answer: C

° Watch Video Solution

Practice Sheet 1 Passage i

1. A black are [x]on fraiment NayCQOj in the presence of air gives a green

compound (a). When Rreen compound (a) died in water it producess dark
precipitate (b) and pink solution (e) crystal of (e) when treated with
propene produces dark ppr (b)
Geometry around central atom in (a) and (c) respectively

A. tetrahedral, tetrahedral

B. square planar, tetrahedral

C. octahedral, tetrahedral


https://dl.doubtnut.com/l/_wQwm1YnQP2Rb
https://dl.doubtnut.com/l/_48ORlfCiwIU6

D. tetrahedral, octahedral

Answer: A

o Watch Video Solution

2. Ablack are [x]on fraiment Nay;COj in the presence of air gives a green
compound (a). When Rreen compound (a) died in water it producess dark
precipitate (b) and pink solution (e) crystal of (e) when treated with
propene produces dark ppr (b)
Metal present in ore extracted by

A. electrolytic method

B. cyanide process

C. thermite process

D. self reduction

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_48ORlfCiwIU6
https://dl.doubtnut.com/l/_jwRyHIGF2iZH

3. Ablack are [x]on fraiment Nay;COj in the presence of air gives a green
compound (a). When Rreen compound (a) died in water it producess dark
precipitate (b) and pink solution (e) crystal of (e) when treated with

propene produces dark ppr (b)

Say /H* reagent
Solution —— (d)solution o (¢) solution reagent (R) can be used.
(R)
A.OH ~ /SOg
B. H,O /H*
C. PbO, /H*
D.Sn*2/H™
Answer: C

° Watch Video Solution

Practice Sheet 1 Match The Following Questions



https://dl.doubtnut.com/l/_jwRyHIGF2iZH
https://dl.doubtnut.com/l/_ieIo3S0cZcNq
https://dl.doubtnut.com/l/_JUsCrMR9ZpP1

1. Match the

COLUMN - 1

A) chaleopyrite — copper (pure)
B) zine blend = zinc (pure)

C) Bauxite — aluminium {pure)
D) gelena — Lead {puic)

following columns

COLUMN - 11

p) froth floatation

q) carbon reduction
r) Roasting

s) Au

t) electrolytic refining

° Watch Video Solution

2. Match the

COLUMN - |
A) Mica

B} Limonite
C) cerussite
D) Azurite

following columns

COLUMN - 11
) Lead

q) copper

) aluminium

8} carbonale ore

o Watch Video Solution

Practice Sheet 1 Integer Answer Type Questions

1. The oxidation state of Al in cryolite



https://dl.doubtnut.com/l/_JUsCrMR9ZpP1
https://dl.doubtnut.com/l/_KO6q3Rr6lp1C
https://dl.doubtnut.com/l/_fEuaY7mNLH0j

| o Watch Video Solution

2. What is oxidation state of Fe in fools gold

o Watch Video Solution

roasting . . . .
3. Galena —— etal oxide + gas oxidation state of 's' in galena -

oxidation state of product

o Watch Video Solution

4.Epsom salt is MgSO4H>0 What is the value of x' in epsom salt

o Watch Video Solution

5.The ratio of Cu and Sn metals in bronze

o Watch Video Solution



https://dl.doubtnut.com/l/_fEuaY7mNLH0j
https://dl.doubtnut.com/l/_zFBd0nQDESAy
https://dl.doubtnut.com/l/_tHrWAtcyYedy
https://dl.doubtnut.com/l/_1Gy3yeLB9l9z
https://dl.doubtnut.com/l/_4pFSIlCXAyWZ

6. The number of transition metals present in Rinmann's greens

compound.

° Watch Video Solution

Practice Sheet 2 Single Or More Than One Option Questions

1. The correct statement is

A. Dolomite is the ce of Zinc

B. Galena is the ore of mercury

C. Pyrolusite is the one of Iron

D. Cassiterite is the ore of Tin

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4pFSIlCXAyWZ
https://dl.doubtnut.com/l/_jXLCo8TGQgeK
https://dl.doubtnut.com/l/_4aRoFStEWp9e

2. Which is knwis blister copper

A. Pure copper

B. 98% copper

C. Ore of coppe

D. Alloy of copper

Answer: B

o Watch Video Solution

3. In the metallurgy of Zinc, the Zine dust obtained from roasting and

reduction of ZnS contains same It is removed by

A. Absorbance of UV light and reemission of white light

B. Shock cooling by contact with a shower of molten lead

C. X-ray method

D. smelting


https://dl.doubtnut.com/l/_2QtGAOH3KQTP
https://dl.doubtnut.com/l/_jk9nI443xdM7

Answer: B

° Watch Video Solution

4. Which ore contains both Cu and Fe?

A. Cuprite

B. Chalcocite

C. Chalcopyrite

D. Malachite

Answer: C

° Watch Video Solution

5. Statement: 1 For the change occuring during roasting of sphalerite, the

entropy change is negtive


https://dl.doubtnut.com/l/_jk9nI443xdM7
https://dl.doubtnut.com/l/_XNGEKsMw3K4C
https://dl.doubtnut.com/l/_NoAAb0hvbT3E

Statement-2. Two different compounds of Zine are formed during

roasting

A.Both | and Il are correct and Il is correct explanation of |

B. Both in and Il are correct and li is not correct explanation of |

C.is true but Il is false

D. is false but Il is true

Answer: B

o Watch Video Solution

6. Statement 1: For extraction of copper, malachite is calcunited but
chalcocite is roasted
Statement 2: Both roasting and calisation conert all the ares into their

oxides

A.Both I and Il are correct and Il is correct explanation of |

B. Both in and Il are correct and li is not correct explanation of |


https://dl.doubtnut.com/l/_NoAAb0hvbT3E
https://dl.doubtnut.com/l/_7j5THDCFp0E0

C.is true but Il is false

D.is false but Il is true

Answer: C

° Watch Video Solution

7.The electrolyte used for the electrolytic refining of Tin is

A. Tin sulphate acidified with H,.S,

B. Molten tin sulphate

C. Hydrofluoro slilicic and containing SnSO, acidified with H, SO,

D. Aqueous stannoes chloride with HCl

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7j5THDCFp0E0
https://dl.doubtnut.com/l/_zETr6ghESAZA

8. An ore contains PbS, ZnS, and FeS2, During separation of the three by

froth flotation, the role of CuSO,

A. To make Zns wettable by froth

B. To depress the flotation of F'eS,

C. To react with excess NaCN

D. To stabilize ZnS in froth

Answer: A

o Watch Video Solution

9. An ore is subjected to roasting on doing so, agus A is liberate and the
metal is obtained in state. Il gas turns acidified dichromate paper green

the one is

A. Casiterite

B. Copper glance


https://dl.doubtnut.com/l/_CPWut4n8HrJk
https://dl.doubtnut.com/l/_MvyXXFkXOdEh

C. Malachite

D. Sphalerite

Answer: B

o Watch Video Solution

10. Consider the following reaction at 1000° C

Zn(S) +%O2(g)*>ZTLO AG°:*3690KJ/H101

1
C+ 502 — CO(g9) AG° = 460KJ /mol
Choose the correct statement.
A. Zinc can be oxidised by
B.ZnO can be reduced by graphite
C.Botha and h are true

D. Botha and b are false

Answer: B



https://dl.doubtnut.com/l/_MvyXXFkXOdEh
https://dl.doubtnut.com/l/_w2ZiMNxjIji5

| ¥ vvatch video sSolution J

11. Which metals) is (are)non- volatile?

A.Cu

B.Zn

C.Pb

D.Cd

Answer: B::D

o Watch Video Solution

12. In which of the following processes, calcium silicate slag is formed.

Extraction of

A. Tin from casierile

B. Copper from copper pyrite


https://dl.doubtnut.com/l/_w2ZiMNxjIji5
https://dl.doubtnut.com/l/_X0Bal4mj2s93
https://dl.doubtnut.com/l/_wwFVe1D5inlX

C.Zinc from Zinc blende

D. Iron from hematite

Answer: A::D

° Watch Video Solution

13. In metallurgy, ane may be dissolved in water and the element may be

displaced from solution using mother cheap element An E mple for this

A. Solution of Cd + Zn metal

B. Sea water containing Bry + Cl,

C. Solution of F'e + Cu metal

D. Solution of Zn+Ag metal

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_wwFVe1D5inlX
https://dl.doubtnut.com/l/_fRXAOsPF21H5
https://dl.doubtnut.com/l/_lLLIyK92GOYV

14. Refining of Tin can be done by

A. Cupellation
B. Liquation
C. poling

D. Electrorefining

Answer: B::C::D

° Watch Video Solution

15. Metals which can be extracted by smelting process is/are

A.Sn
B.Cu
C.Zn

D. Al


https://dl.doubtnut.com/l/_lLLIyK92GOYV
https://dl.doubtnut.com/l/_E8naEdIl0ew8

Answer: A::B

° Watch Video Solution

Practice Sheet Single Or More Than One Option Questions

1. During bessemerisation of copper, the reaction taking place in the

bessemer conventor is

A. CUgS + 2C’U,2O — 6Cu + 502

B. Cuy0O + Fes — CusS + FeO

C.FeO + 5i09 — FeSiO;

D. None of these

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_E8naEdIl0ew8
https://dl.doubtnut.com/l/_NyY7llQ983Wu

Practice Sheet 2 Passage |

1. Copper is the most moble of first row transition meals and occurs in
small deposits in several countries ares of copper include chalcanthite
(CuSO45H,0), afecamie (CuCHOH),), cuprite(Cu,0) Copper glance
(CuyS) and rolachite (Cuy(OH),COs). However, 80% of the world
copper production comes from the ore chalcopyrite (CuFeS,). The
extraction of copper from chalopyrite in polves partial roasting, removal
of Iron self-reduction.

Partial Roasting of chalcopyrite produces

A.CuyS and FeO
B. Cuy0O and FeO
C.CuS and Fey0;5

D. C'U,z — and F€203

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_paTiyNTDeCgP

Practice Sheet 2 Passage |

1. Copper is the most moble of first row transition meals and occurs in
small deposits in several countries ares of copper include chalcanthite
(CuSO45H,0), afecamie (CuCHOH),), cuprite(Cu,0) Copper glance
(CuyS) and rolachite (Cuy(OH),COs). However, 80% of the world
copper production comes from the ore chalcopyrite (CuFeS,). The
extraction of copper from chalopyrite in polves partial roasting, removal
of Iron self-reduction.

Iron is removed from chalcopyrite as

A.FeO
B. FeS
C. F6203

D. FCS'lOg

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_g1jutz37ABCH

Practice Sheet 2 Passage |

1. Copper is the most moble of first row transition meals and occurs in
small deposits in several countries ares of copper include chalcanthite
(CuSO45H,0), afecamie (CuCHOH),), cuprite(Cu,0) Copper glance
(CuyS) and rolachite (Cuy(OH),COs). However, 80% of the world
copper production comes from the ore chalcopyrite (CuFeS,). The
extraction of copper from chalopyrite in polves partial roasting, removal
of Iron self-reduction.

In sell reduction the reducing species is

AS
B.O 2
Cc.8?2

D. SO,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_dtpNDyl1g43Z

Practice Sheet 2 Passage li

Hydrolysis > B(White turbidity)

m‘*ﬂ;f Dissolves in
C -
exvcess of NaOH

1.

Transparent glassy solid strongly reducing, purple of cassius reduces and
gives chromyl chloride test.
Ais

B.Sn(OH)Cl

C.Sn(OH),

D. NCLQS’/LOQ

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5UrnobFn4dTy

Practice Sheet 2 Passage li

Hydrolysi
A e = B(White turbwdity )

%Ufg Dissolves in
C D
excess of Hn{.'l'lr

1.
Transparent glassy solid strongly reducing, purple of cassius reduces and
gives chromyl chloride test.
Bis
B.Sn(OH)Cl

C.Sn(OH),

D. Na2Sn02

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6hTlojGGG2D9
https://dl.doubtnut.com/l/_fwTT4seOXRIO

= B{White turbadity)

\ Dissolves in -b

excess of NaOH

2,
Transparent glassy solid strongly reducing, purple of cassius reduces and
gives chromyl chloride test.
Cis
A. 5nCly
B.Sn(OH)Cl

C.Sn(OH),

D. Na25n02

Answer: C

° Watch Video Solution

Practice Sheet 2 Match The Following Questions


https://dl.doubtnut.com/l/_fwTT4seOXRIO

COLUMN -1 COLUMN - 11

A) Froth fotation p) Pb ore
B) Self reduction g) Cu ore
) Roasling r} Fe ore
D) Pyrometallurgy §) Sn ore

[} &n ore

o Watch Video Solution

Practice Sheet 2 Match The Following Questions

COLUMN -1 COLUMN - 11
A} Tron and copper p) Poling
B) Zirconium and Titrunium q) Besse merisation
C) Lead and Tin r} Van-Arkel
1. D) Copper and Tin ) Liguation

o Watch Video Solution

Practice Sheet 2 Integer Answer Type Questions


https://dl.doubtnut.com/l/_WYpHtcspv8B2
https://dl.doubtnut.com/l/_BnKGc5oivW38
https://dl.doubtnut.com/l/_5kGmtNTQcn8n

1. Ag2S + NaCN + Zn — Ag+ W

In W the corrdination number of Z in

° Watch Video Solution

2. Howmany metals are present in the ore chalcopyrite, from which 80%

of the world's copper production comes.

° Watch Video Solution

3. In the Auto oxidation taking place in Bessemer converter during the
extraction of copper. The change in oxidation state of sulphur in this

process is

° Watch Video Solution

4. In chlorination roasting Tin ore is converted into its halide. In this

process how many moles of chloride is required


https://dl.doubtnut.com/l/_5kGmtNTQcn8n
https://dl.doubtnut.com/l/_yHfuv8i92ssn
https://dl.doubtnut.com/l/_mZxdUjSaiRy0
https://dl.doubtnut.com/l/_u5qJ9quPcdgi

° Watch Video Solution

5. Howmany metals are commercially extracted by pyrometallurgy from

the given metals?( Cu, Fe, Sn, Au, K, Na )

° Watch Video Solution

6. Find the number of metals which are commercially reduced by self-

reduction from the gives metals Ag, Cr, Mn, Sn, Zn, Fe

° Watch Video Solution

Practice Sheet 3 Single Or More Than One Option Questions

1. Hydrometallurgy is useful in the extraction of

A.Sn


https://dl.doubtnut.com/l/_u5qJ9quPcdgi
https://dl.doubtnut.com/l/_YL8EECgcr8t2
https://dl.doubtnut.com/l/_QR0PN49HFr4S
https://dl.doubtnut.com/l/_oztOuV3sGJjf

B. Al

C.Hg

Answer: D

° Watch Video Solution

2. Complex formation or cyanide method is used for the extraction of

A.Cu

B. Fe

C.Hg

D.Ag

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oztOuV3sGJjf
https://dl.doubtnut.com/l/_xkCbTRl1cHWb
https://dl.doubtnut.com/l/_daUrpkKRWnHy

3. In the extraction of lead from its or galena am inportant element

recovered is

A. Au

C.Cr

D.C

Answer: B

o Watch Video Solution

4. In the cyanide extraction process of silver from argentite ore, the

oxidising and reducing agents used as

A. Oy and CO respectively

B. O, and Zn dust respetively

C. HNOj and Zn dust respectivey


https://dl.doubtnut.com/l/_daUrpkKRWnHy
https://dl.doubtnut.com/l/_QFH8OUbogAur

D. HNO3 and CO respectively

Answer: B

° Watch Video Solution

5. Powdered silver ore is rated with NaCN solution and all bubled through

the mixture to give

A. AgCN
B. Ag
C. Ag(CN),

D. Na|Ag(CN),]

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_QFH8OUbogAur
https://dl.doubtnut.com/l/_l6jN2f5VNms3

6. Ag' obtained from angenerous leadis purified by

A. Distillation

B. Forth floatation

C. Cupellation

D. Reaction with KCN

Answer: C

o Watch Video Solution

7. A Gold is found wally neat ... Mineral

A. Mica

B. Feldspar

C. Quartz

D. Glena


https://dl.doubtnut.com/l/_VoUQTDnK5IWd
https://dl.doubtnut.com/l/_NeD7aCuptFPn

Answer: C

° Watch Video Solution

8. From gold amalgam, sled may be recovered by

A. Additon of Zn metal

B. Electrolytic refining

C. Distillation

D. Dissolving Hg in HNO3

Answer: C

° Watch Video Solution

9. Gold extracted using

A. Amalgamation process


https://dl.doubtnut.com/l/_NeD7aCuptFPn
https://dl.doubtnut.com/l/_5vubkvTiVxsR
https://dl.doubtnut.com/l/_YUSw2o7Y6Qrh

B. Carbon reduction process

C. Oxidation process

D. Electrolytic process

Answer: A

° Watch Video Solution

10. Roasted gold ore
+ON~ + Hy0 2 [a] + OH, [z] + Zn — [y] + Aulz] and [y are
Az = [Au(CN),]” y=[Zn(CN),] "’
B.2 = [Au(CN),] *  y=[Zn(CNy)] *
4

C.z = [Au(CN),]  y= [Zn(CN)q]

D.x = [Au(CN)A - Y= [Zn(C’N)d -

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YUSw2o7Y6Qrh
https://dl.doubtnut.com/l/_UH4N8gYbdLpu

1. In the extraction of which of the following metal's amalgamation

process is used?

A Ag

B. Au

C.Cu

D. Fe

Answer: A::B

o Watch Video Solution

12. Which of the folloing is ore extracted from sulphide ores?

A.Cu

C.Pb



https://dl.doubtnut.com/l/_UH4N8gYbdLpu
https://dl.doubtnut.com/l/_NVD1H7pQhFME
https://dl.doubtnut.com/l/_QeKSQcWkIA4N

D.Zn

Answer: A::B::C::D

° Watch Video Solution

13. Ag is extracted by

A. Capellation method

B. Parke's process

C. Pattinson's process

D. None of these

Answer: A::B::C

o Watch Video Solution

14. Which metal occurs in Freestate?


https://dl.doubtnut.com/l/_QeKSQcWkIA4N
https://dl.doubtnut.com/l/_aq7gZomYpFVS
https://dl.doubtnut.com/l/_bselnJE2u0xO

A Ag

B. Au

C.pPt

D.Cu

Answer: A::B::C::D

o Watch Video Solution

15. Which out of the following metals can be obtained by clectolysis of

the aqueous solution of their

A Ag

B. Mg

C.Au

D. Na

Answer: A::C



https://dl.doubtnut.com/l/_bselnJE2u0xO
https://dl.doubtnut.com/l/_dpNLziidqTD8

| ° Watch Video Solution

16. Silver containing lead as an impurity is not purified by

A. Poling

B. Cupellation

C. Levigation

D. Pistillation

Answer: A::C

° Watch Video Solution

Practice Sheet 3 Passage |

1. Gold dissolves in cyanide solution the presence of air to form

[Au(CN),] which is stable in a cons solution.

AU(S) +CN, , + 05 + HyOy & [AU(CN)2:|

(aq) (aq)


https://dl.doubtnut.com/l/_dpNLziidqTD8
https://dl.doubtnut.com/l/_oNqOCbhiY69J
https://dl.doubtnut.com/l/_kSIofAVo5MOl

Aquaregia a 3 : 1 mixture of conc. HC and HNOj3 was developed by the
alchemists as a means to dissolve gold. The process is actually a Redox
reaction.

Au(s) + NO3(4q) + Cl” & AuCl;(aq) + NO; (g)

Gold is too noble to react with HNO3; However gold does react with a
waregia becuase the complex AuCl, forms

Aull) +3e” = Au() B’ =15V — I

AuCl

- - 0

(q)

How many grams, approximately of NACN are needed to extract 20g of
gold from are?

A.20g

B.6.5g

C.10g

D. 8¢g

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kSIofAVo5MOl
https://dl.doubtnut.com/l/_N9BJU55CwxCG

2. Gold dissolves in cyanide solution the presence of air to form

[Au(CN),] which is stable in a cons solution.

A’U,(s) +CN, |, + 02 + H202 <~ [A’U,(CN)A (aq)

(ag)

Aquaregia a 3 : 1 mixture of conc. HC and HNQOj3 was developed by the
alchemists as a means to dissolve gold. The process is actually a Redox

reaction.

Au(y) + NOs(og) + Cl™ & AuCly, ., + NOa(y)

Gold is too noble to react with HNQO3; However gold does react with a

waregia becuase the complex AuCl, forms

Aulpy +3e” = Au( ) B’ =15V — I

AuCl

- — 70
4(aq)+3e —)AU(3)+4CZ E° =1V — 2

(q)

Calculate the formation constant approximately, of Auct at 25° C

A 10°
B.10%°
c.10"?

D. 10*2


https://dl.doubtnut.com/l/_N9BJU55CwxCG

Answer: B

o Watch Video Solution

3. Gold dissolves in cyanide solution the presence of air to form

[Au(CN),] which is stable in a cons solution.

A’u,(s) +CN, |, + 02 + H202 <~ [A’U,(CN)A (aq)

(aq)
Aquaregia a 3 : 1 mixture of conc. HC and HNQOj3 was developed by the
alchemists as a means to dissolve gold. The process is actually a Redox

reaction.

Au(y) + NOs(og) + Cl™ & AuCly, ., + NOa(y)

Gold is too noble to react with HNQO3; However gold does react with a

waregia becuase the complex AuCl, forms

Aulpy +3e” = Au( ) B’ =15V — I
- - - ;0
AU’Cl4(aq) +3e” — AU(S) + 4Cl(q)E =1V — 2

The function of HC is to provide C what is the purpose of the Cr in the

above reaction select your choice from the following.

A. It is an oxidising agent


https://dl.doubtnut.com/l/_N9BJU55CwxCG
https://dl.doubtnut.com/l/_rArIH2THPpdd

B. It is a reducing agent

C.It is a complexing agent

D. It is a catalyst

Answer: C

° Watch Video Solution

Practice Sheet 3 Passage li

1. Much of the world supply of planinam group metal Le, desived from the

residues recovered from the electrolytic retining of copper and nickyl. The
residues when heated with aquaria the sold, and pd go in to solution.
This is filtered off and to the filiate on adding Ferrous sphate solution
gold is preciated the platinum and palladium remain in solution.

The solubility of the gold platinum and palladium in aquaregia is due to

the formation of

A. AuCl, PtCl,, PdCl,


https://dl.doubtnut.com/l/_rArIH2THPpdd
https://dl.doubtnut.com/l/_rAYOvKSAE58u

B. A’U,Cl3, Pt0l4, Pd0l4

C. HA’U,CZ4, HQPtClﬁ, HQPdCl4

D. HAuCl,, H,PtCl,, H,PdCl,

Answer: C

o Watch Video Solution

2. Much of the world supply of planinam group metal Le, desived from the
residues recovered from the electrolytic retining of copper and nickyl. The
residues when heated with aquaria the sold, and pd go in to solution.
This is filtered off and to the filiate on adding Ferrous sphate solution
gold is preciated the platinum and palladium remain in solution.

The role of Ferrous sulphate in the recipitation of gold is

A. Oxidation

B. Reductant

C. Complex agent


https://dl.doubtnut.com/l/_rAYOvKSAE58u
https://dl.doubtnut.com/l/_xOdJINzGlHzY

D. Substituent

Answer: B

o Watch Video Solution

3. Much of the world supply of planinam group metal Le, desived from the
residues recovered from the electrolytic retining of copper and nickyl. The
residues when heated with aquaria the sold, and pd go in to solution.
This is filtered off and to the filiate on adding Ferrous sphate solution
gold is preciated the platinum and palladium remain in solution.
The structures of compounds of Pt and Pd remained in the solution are

A. Square planar and square planar

B. Square planar and Tetrahedral

C. Tetrahedral and Square planar

D. Octahedral and Square planar

Answer: D


https://dl.doubtnut.com/l/_xOdJINzGlHzY
https://dl.doubtnut.com/l/_rXVRJG6wMIlK

o Watch Video Solution

Practice Sheet 3 Match The Following Questions

COLUMN -1 COLUMN - 1l
A) Soluble in a conc.NH Solution p) Ag,S
B) Soluble in excess KCN solution q) Cu(OH),
C) Soluble in excess hypo solution r) AgBr
: [3) Soluble in cone, HCI 8) AgCl
o Watch Video Solution
COLUMN -1 COLUMN -II

A) Mond's process
B} Von Arkel method
) Zone refining

3} Polling

E) Cupellation

F) Cyanide process

i) Purification of Ge
it} Parification of Ni
iii) Extraction of Au
iv) Purification of Ti
v) Refiming of Ag
¥i} Purificanon of Cu

o Watch Video Solution



https://dl.doubtnut.com/l/_rXVRJG6wMIlK
https://dl.doubtnut.com/l/_rmdnPvYHEYh6
https://dl.doubtnut.com/l/_nJMn3jeopkd1

Practice Sheet 3 Integer Answer Type Questions

1. How many of the following are silver ores
(a) Chlorargirite (b) Argentitei
(c) Pyrargirite (d) Azurite

(e) Calamine

° Watch Video Solution

o
2. Roasted gold ore +CN ™~ + Hy0 + —s 2+ OH ", What is the

oxidation at 'Au’ is complex 'x

° Watch Video Solution

3. How many cyanide ions are involved in the following chemical equation

Au+CN~ + HyO + Oy — [Au(CN),]~ + OH "~

° Watch Video Solution



https://dl.doubtnut.com/l/_cgHUzbdk22o4
https://dl.doubtnut.com/l/_FeBOmJ1On0U5
https://dl.doubtnut.com/l/_KqvQakLhUfDP

4. How many metals are commercially extracted by electrometallurgy

from the given metals? Al, Mg, Na, K, A, Hg. Ti, Th, Zt, B

° Watch Video Solution

5. How many of the following are oxide ores. Calamine, Cuprite, Zincite,

Chalcocite, Haematite, Bauxite, Magnetite, Caesiterite.

° Watch Video Solution

6. How many metals are commercially extracted by hydro metallurgy from
the given metals

Ag, Mn, In, Cr, Pb, Au

° Watch Video Solution

Practice Sheet 4 Single Or More Than One Option Questions



https://dl.doubtnut.com/l/_GLm5C9Q8qnBO
https://dl.doubtnut.com/l/_XQyNrEbQkOrF
https://dl.doubtnut.com/l/_CjwBK2pdlPJs
https://dl.doubtnut.com/l/_S2jOOXhxHprR

1. In Costner's process the correct anodic reaction and the type of

reaction occurs at anode is

A.OH  — Hy + O, Reduction

B.4OH — 2H,0 + I, + 4e~ Oxidation

C.20H = — H, + O, Oxidation

D. None

Answer: B

o Watch Video Solution

2. The substance added to NaCl in Down's process to lower the melting

point of NaCl is

A. NaCl

B. K,CO3

C. C&Clg


https://dl.doubtnut.com/l/_S2jOOXhxHprR
https://dl.doubtnut.com/l/_QXKIrP0cVW7l

D. AlCl,

Answer: C

° Watch Video Solution

3. Sea Water contains magnesium in the form of

A. Carbonate

B. Chloride

C.Sulphate

D.Both b and ¢

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_QXKIrP0cVW7l
https://dl.doubtnut.com/l/_EnCZ80DpiLg3

4. Al,O3 — AIN — A(OH); — Al,O3. The sequence of these
products involved in

A. Bayer's process

B. Serpecks process

C. Hall's process

D. Hope's process

Answer: B

o Watch Video Solution

5.In the purification of bauxite by Hall's process

A.The bauxite one is heated with concentrated NaOH solution at

150°C

B. The bauxite ore is heated with Na HC'O;


https://dl.doubtnut.com/l/_DrREY7b1WLwo
https://dl.doubtnut.com/l/_0OR1999MPY7s

C.The bauxite ore is mixed with coke and heated at 1800°C in a

current of N,

D. The bauxite ore is fused with Na;CO3

Answer: D

° Watch Video Solution

6. In Bayer's process before digesting the one with concentrated Sodium

hydroxide it must be

A. Dissolved in cryolite

B. Roasted to convert FeO to Fe;O5

C. Evaperated to remove water

D. Dissolved in CaF,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0OR1999MPY7s
https://dl.doubtnut.com/l/_DoiB6PllIhjN

7. Which of the following reagent is used to separate the impurity from

red bauxite

A. Conc HCl

B. Conc. H, S0,

C. NaOH

D. HNO;

Answer: C

o Watch Video Solution

8. A mixture of Al,O3 and Fe;03 can be separated by using

A. Sodium hydroxide

B. Cold water

C. Ethyl alcohol


https://dl.doubtnut.com/l/_DoiB6PllIhjN
https://dl.doubtnut.com/l/_mAfOv9XxnZYl
https://dl.doubtnut.com/l/_ivjeEKosTrg3

D. Boling wate

Answer: A

° Watch Video Solution

9. Match the following

A} Felspar
B) Asbestos

C) Pyrurgyrite
[} Dinspore

The correct answer is

A A B C D

IV VvV II I

A B C D

> v v I 1II
A B C D
¢ v I 1III II

5 A B C D

IV Iv I

1) [Ag,SbS,|
1) ALOD,. H,0
1) MgSO,. H,0
IV) K AISiO,0,
V) Ca Mg,(Si0,),



https://dl.doubtnut.com/l/_ivjeEKosTrg3
https://dl.doubtnut.com/l/_rG6IdEfF06Gl

Answer: B

° Watch Video Solution

10. The formula of 'Spinel' is AB504 where As......and B is

A B
a) IIA element A element
b) IIA element IIA element
¢) Transistion metal in +3 state Transistion melal in +2 stale
d) lIA element Transistion metal in +2 state

° View Text Solution

11. The function of adding cryolite in the electrolytic reduction of alumina

by Hall Herault process is

A. Dissolve alumina
B. Lower the melting point of alumina
C. Lower the fuel boiling point

D. Increase the electrical conductivity of alumina



https://dl.doubtnut.com/l/_rG6IdEfF06Gl
https://dl.doubtnut.com/l/_g05XQnWtcvK2
https://dl.doubtnut.com/l/_1t5kkP1PhP0N

Answer: A::B::C::D

° Watch Video Solution

12. Which is (are) ore) of aluminium

A. Cryolite

B. Bauxite

C. Malachite

D. Cuprite

Answer: A::B

° Watch Video Solution

13. Which of the following minerals/ores contains magnesium

A. Magnetite


https://dl.doubtnut.com/l/_1t5kkP1PhP0N
https://dl.doubtnut.com/l/_kc5qXYqeJiEY
https://dl.doubtnut.com/l/_pE4TQ6r0aY6g

B. Magnesite

C. Asbestos

D. Carnalite

Answer: B::C::D

° Watch Video Solution

14. Electro metallurgical process (electrolysis of fused electrolytc) is

employed to extract

A.lron

B. Alluninium

C. Silver

D. Sodium

Answer: B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_pE4TQ6r0aY6g
https://dl.doubtnut.com/l/_qAzeWA8YBZ24

15. Which of the following statements regarding the metallurgy of

magnesium using electrolytic method is not correct

A. Electrolyte is magnesium chloride containing a little of NaCl and

NaF

B. Air tight iron pot acts as a cathode

C. Electrolysis is not done in the atmosphere of coal gas

D. Molten magnisium is heavier than the electrolyte

Answer: C::D

° Watch Video Solution

16. C’a3(PO4)2 is

A. Thomas slag

B. Used in cement manufacuring


https://dl.doubtnut.com/l/_qAzeWA8YBZ24
https://dl.doubtnut.com/l/_YrGCXy2xIWhh
https://dl.doubtnut.com/l/_8bGMUMoQAehL

C. Used to magnufacture of phosphorus fertilizer

D. Used to a refractory material

Answer: A::B::C

° Watch Video Solution

Practice Sheet 4 Passage |

1. Sea water contains small quantities of MgCl, and MgS, Sea water is
treated with slaked limeto precipitate the dissolved salty as Mg(OH),
The Mg(OH), is dissolved in a little quantity of HCI and MgCl,6H,0 is
crystallised from solution. The hydrated MgCl, is heated in a current of
dry HCl gas to get anhydrous MgCl; Pused anhydrous MgCl, is
subjected to electrolysis. Magnesium deposited at cathode.

Which of the following process is used in the extractive metallurgy of

magnesium

A. Fused salt electrolysis


https://dl.doubtnut.com/l/_8bGMUMoQAehL
https://dl.doubtnut.com/l/_pV2Bso5vzUO0

B. Self reduction

C. Aqueous solution electrolysis

D. Thermitt reduction

Answer: A

o Watch Video Solution

2. Sea water contains small quantities of MgCl, and MgS, Sea water is
treated with slaked limeto precipitate the dissolved salty as Mg(OH),
The Mg(OH), is dissolved in a little quantity of HCI and MgCl,6H,0 is
crystallised from solution. The hydrated MgCl, is heated in a current of
dry HCl gas to get anhydrous MgCl, Pused anhydrous MgCl, is
subjected to electrolysis. Magnesium deposited at cathode.

Magnesium metal is extracted from

A. Carnalite

B. Magnesite


https://dl.doubtnut.com/l/_pV2Bso5vzUO0
https://dl.doubtnut.com/l/_r6vYWtZ3dJZh

C. Sea water

D. All of these

Answer: D

o Watch Video Solution

3. Sea water contains small quantities of MgCl, and MgS, Sea water is
treated with slaked limeto precipitate the dissolved salty as Mg(OH),
The Mg(OH), is dissolved in a little quantity of HCI and MgCl,6H,0 is
crystallised from solution. The hydrated MgCl, is heated in a current of
dry HCl gas to get anhydrous MgCl; Pused anhydrous MgCl,y is
subjected to electrolysis. Magnesium deposited at cathode.

In the Hanging method magnesia is a reved by using

A.Si
B. CCECg

C.FeSt


https://dl.doubtnut.com/l/_r6vYWtZ3dJZh
https://dl.doubtnut.com/l/_VD1ljrekm6kw

D. Coke

Answer: D

° Watch Video Solution

Practice Sheet 4 Passage li

1. Magnesium is a valuable, light weight metal used as a structural

material as well as in all batteries and in chemical synthesis. Although
magnesium is plentiful in carth crust, it is ma found in the sea water after
sedium. There is about 1.38 of magnesium in every kilogram of water. The
process for obtaining magnesium from se water employs all three types
of reach le... precipitation acid-hase and redor racions.

Acid-base reaction involves reaction between.

A. MgCO3 and HCI
B. Mg(OH)2 and H2SO4

C. Mg(OH), and HCI


https://dl.doubtnut.com/l/_VD1ljrekm6kw
https://dl.doubtnut.com/l/_kueXvAq9Hnfh

D. MgCO3 and H,S50y

Answer: C

o Watch Video Solution

2. Magnesium is a valuable, light weight metal used as a structural
material as well as in all batteries and in chemical synthesis. Although
magnesium is plentiful in carth crust, it is ma found in the sea water after
sedium. There is about 1.38 of magnesium in every kilogram of water. The
process for obtaining magnesium from se water employs all three types
of reach le... precipitation acid-hase and redor racions.

Redox reaction takes place in the extraction of Me

A.In the electrolytic cell when fuse MgCl, is subjected to electrolysis

B. when fused MgCOj is heated

C. when fused MgCQOsis strongly heated

D. none of the above


https://dl.doubtnut.com/l/_kueXvAq9Hnfh
https://dl.doubtnut.com/l/_K4VOTxGKc6BF

Answer: A

o Watch Video Solution

3. Magnesium is a valuable, light weight metal used as a structural
material as well as in all batteries and in chemical synthesis. Although
magnesium is plentiful in carth crust, it is ma found in the sea water after
sedium. There is about 1.38 of magnesium in every kilogram of water. The
process for obtaining magnesium from se water employs all three types
of reach le... precipitation acid-hase and redor racions.

Electron is an alloy of

A. Magnesium
B. Sodium
C. Alluminium

D. Manganese

Answer: A

(e~ |


https://dl.doubtnut.com/l/_K4VOTxGKc6BF
https://dl.doubtnut.com/l/_bVHieuxkQGSQ

[ @ Watch Video Solution ]

Practice Sheet 4 Match The Following Questions

1. Match the following columns
COLUMN . | COLUMN - 1l
A) Magnesite p) Ore of magnesiuin
B) Dolomie q) Ore of aluminium
C) Corundum ) Oxide ore
1) Bauxite 8) Carbonate ‘ore

o Watch Video Solution

2. Match the following columns
COLUMN -1 COLUMN - 11
A) Mica P KAJSE, O
B) Felspar Q) ALO, . 18i0, . 2H,0
) Glauber's salt r) Na,50, . [0H,0
D) China clay 5) K,0 . 3ALO, . 68i0, . 2H,0

° Watch Video Solution



https://dl.doubtnut.com/l/_bVHieuxkQGSQ
https://dl.doubtnut.com/l/_y9TQ2KdCnIrG
https://dl.doubtnut.com/l/_McvY4KBwPJWf

Practice Sheet 4 Integer Answer Type Questions

1. The formula of Gibsite is Al,O3, © HyO there X' is

° Watch Video Solution

2. The no of faradays of electricity required for the deposition of 0.9g of

Alluninum is 10 F 'X' is

° Watch Video Solution

3. During Aluminothermy one mole of Cry03 reduced to Cr. How many

no. of the moles of Al required.

° Watch Video Solution

4. The ratio of their molecular weights of thomas slag and limestone is

nearly.


https://dl.doubtnut.com/l/_GGKC4msdfJ8s
https://dl.doubtnut.com/l/_qm6H75M9CUwC
https://dl.doubtnut.com/l/_wWNqu1elIXyI
https://dl.doubtnut.com/l/_iCiPjsQMRs7n

° Watch Video Solution

5.1n the hydrated chloride (MgClyz H;0) of Me, the value of x'is

° Watch Video Solution

6. The percentage of Zinc in the electron is there is Glauber's salt.

° Watch Video Solution

Practice Sheet 5 Single Or More Than One Option Questions

1. Electrolytic reduction of alumina to aluminium by Hall - Herault process

is carried out

A.in the presence of NaCl

B. in the presence of fluorite


https://dl.doubtnut.com/l/_iCiPjsQMRs7n
https://dl.doubtnut.com/l/_Dz5BoZVFdjzf
https://dl.doubtnut.com/l/_V4XiPhdl4VlU
https://dl.doubtnut.com/l/_v0ZQNy9ATEYH

C.in the presence of cryolite which forms a melt with lower melting

temperature

D.in the presence of cryolite which forms a melt with higher melting

temperature

Answer: C

o Watch Video Solution

2. Native silver metal forms a water soluble complex with a dilute a s

wolution of NaCN in the presence of

A. nitrogen

B. Oxygen

C. carbondioxide

D. argon

Answer: B



https://dl.doubtnut.com/l/_v0ZQNy9ATEYH
https://dl.doubtnut.com/l/_HEl0G634eVgB

| o Watch Video Solution

3. Select correct statement

A.when the lead - silver alloy is rich in silver, lead is removed by the

cupellation process

B. when the lead - silver alloy is rich in lead, lead is removed by parke's

or pottinson's process

C.zine forms an alloy with lead from which lead is separated

D.zinc forms an alloy with silver, from which zinc is separated by

distillation

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HEl0G634eVgB
https://dl.doubtnut.com/l/_tVeifwh38er5

4. NaCN is sometimes added in the front loatation process as a
depressant when ZnS and PbS minerals are expected because
A. Pb(CN), is precipitated while no effect on ZnS
B.ZnS forms soluble complex NayZn(CN),| while Phs comes out
with froth

C.PbS forms soluble complex Nay[Pb(CN),| while ZnS comes out
with froth

D. NaCN is never added in froth floatation process

Answer: B

o Watch Video Solution

5. Formation of metallie copper from the sulphide ore in the normal
thermo-metallurgical process essentially involves which one of the

following reaction?


https://dl.doubtnut.com/l/_q0lXqXVtkQ6w
https://dl.doubtnut.com/l/_gHBnoVVzV7V9

3
A CuS + 502 — CuO + SOy, CuS + C — Cu + CO

3
B.CUS + 502 — CuO + S0O,, 2Cu0 + CuS — 3Cu + SO,
C.CuS + 205 — CuSO,4, CuSO,4 — 2Cu + 250,

3
D.Cus + 502 — Cu0 + SO,, CuO + CO — Cu + CO,

Answer: B

o Watch Video Solution

6. In the purification of bauxite by Hall's process

A. The bauxite ore is heated with concentrated NaOH solution at

150°C

B. The bauxite ore is heated with Na HC'O;

C. The bauxite ore is mixed with coke and heated at 1800°C in a

current of N,

D. The bauxite ore is fused with Na;CO3


https://dl.doubtnut.com/l/_gHBnoVVzV7V9
https://dl.doubtnut.com/l/_SLmZYHVxAF8z

Answer: D

° Watch Video Solution

7.Zone refining is based on

A. fractional distillation

B. fractional crystallisation

C. chromatographic separation

D. destructive distillation

Answer: B

° Watch Video Solution

8. Which oxides will not give metal on heating

A.HgO


https://dl.doubtnut.com/l/_SLmZYHVxAF8z
https://dl.doubtnut.com/l/_KgLTcF2fcwbv
https://dl.doubtnut.com/l/_ODAkiI2DqFYM

B.ZnO

C. Ag20

D. All of these

Answer: B

° Watch Video Solution

9. Which of the following statement are correct

A. Quenched steel is mild steel

B. Nitriding is heating iron in atmosphere of N,

C.stainless steel is produced by heating wrought iron in only moltes
chromium

D. mild steel is obtained by annealing

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ODAkiI2DqFYM
https://dl.doubtnut.com/l/_vQJp3lNaSH7i

10. Selecting the correct statement if any from the following

A. during zone rofining of silicon the metal is more soluble in the melt
than the impurity

B.metals like Fe, Ag, Zn and Hg are extracted/punfied by
pyrometallurgy

C. white bauxite ore cannot be concentrated by serpeck's process

D. dolomite, magnesile and graphite are used as retractory materials

fumaces

Answer: B::D

o View Text Solution

11. Which of the following is/are correctly matcbed?


https://dl.doubtnut.com/l/_vQJp3lNaSH7i
https://dl.doubtnut.com/l/_bBXoK7YJbRNy
https://dl.doubtnut.com/l/_5xwM4pM7vTp3

A. Cyanide process - extraction of Au

B. Froth floating process - CuSO,

C. Electrolytic reduction - extraction of Cu

D. Zone refining - ultrapure Ge

Answer: A::B::D

o Watch Video Solution

12. Select the correct statement

A. pressure of CO, increases rate of rusting
B. silver plating is done with the help of K[Ag(CN),]

C. saline water slow down rusting

D. pure metals undergo corrosion faster than impure metals

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_5xwM4pM7vTp3
https://dl.doubtnut.com/l/_8MPxBBQtajpM

13. Stainless steel does not rust because

A.N' present in it does not rust
B. Iron forms a hard chemical compound with 'C' present in it
C. Chromium and nickel combine with Iron

D. Chromium forms an oxide layer that protects Iron from resting

Answer: B::D

° Watch Video Solution

14. The reaction (s) which does (da) occur in the blast furnace in the

extraction of iron from hacmatite are is (are)

A. F€203 + CO — 2FeO + COQ

B.FeO + CO — Fe + CO,

C.F€203+30—> 2F€+3CO


https://dl.doubtnut.com/l/_8MPxBBQtajpM
https://dl.doubtnut.com/l/_zbd8fmrknmKz
https://dl.doubtnut.com/l/_mL68orke2297

D.CaO + 5i0y — CaSiO;

Answer: A::B::D

o Watch Video Solution

15. Which of the following statements is incorrect

A. Cassiterite ore of tin contains the impurites of wolframite which are

separated by electromagnetic separator

B. Tin metal is obtained by the carbon reduction of black tin

C.In the extraction of lead from galena the roasting and self

reduction are carried out in the same furnace at different

temperature

D. Reducing agent of hacmatite in blast furnaces coke in upper part

and CO in lower part of furnace

Answer: A::B


https://dl.doubtnut.com/l/_mL68orke2297
https://dl.doubtnut.com/l/_zdvOP3KVojjG

° Watch Video Solution

16. Which of the following is a sulphide ore?

A. Galena

B. Argentite

C. Malachite

D. Pyrargyrite

Answer: A::B::D

° Watch Video Solution

Practice Sheet 5 Passage li

1. The Ellingham diagram for a number of metallic sulphide is reproduced

below



https://dl.doubtnut.com/l/_zdvOP3KVojjG
https://dl.doubtnut.com/l/_pyqoNwfudhfP
https://dl.doubtnut.com/l/_iZ5Hu39sweJj

ik, dmnley

SO0 P00 | 500 2000
Fi'Ci=s

Formation of which of the sulphides is most spontaneous

A. HgS

B. Biy S

C. Pbs

D.CS,

Answer: C

o Watch Video Solution

2.The Ellingham diagram for a number of metallic sulphide is reproduced

below


https://dl.doubtnut.com/l/_iZ5Hu39sweJj
https://dl.doubtnut.com/l/_okhMkHqKUO2S

i
50

i
ik, mnleh i

150

Fi"C=

Which occurs to minimum extent in anture
A HgS
B. HyS
C. Bi55;

D.CS,

Answer: D

o Watch Video Solution

3.The Ellingham diagram for a number of metallic sulphide is reproduced

below



https://dl.doubtnut.com/l/_okhMkHqKUO2S
https://dl.doubtnut.com/l/_qB5nMc4nEfE4

[y moleh

SO0 1000 | SO0 000
T =

Which of the following sulpliides can be reduced to metal by H> at about

1000 K?

A.CS

B. PbS

C. Bi2S3

D. all of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qB5nMc4nEfE4

4.The Ellingham diagram for a number of metallic sulphide is reproduced

below
Hy+8 == H;5
il
S0
I“.:l
[k, maleh e

130

SO0 00N 500 000
Fi"Ci=

Partial roasting of chalcopyrite produces

A.CusS and FeO

B. Cus0 and FeO

C.CuS and FeyOs3

D. CusS and FesOs

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Rgem0quzrDQp
https://dl.doubtnut.com/l/_ONtVwzT03dia

5.The Ellingham diagram for a number of metallic sulphide is reproduced

below

Hy+5 === Hy5
i
a0
ml
ik, mnleh 1
150

SO0 J0i 1500 2000
Pt =

Iron is removed from chalcopyrite

A. FeO

B. FeS

C. F€203

D. FGS’LOg

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ONtVwzT03dia
https://dl.doubtnut.com/l/_fHi1ideAHw6p

6. The Ellingham diagram for a number of metallic sulphide is reproduced

below
Hy+5—® H:5
i ~C+f-» lrs,.
o Pb+5— PbS

ik, ' maleh

I3

SO0 100 ) 500 2000
Ti"Cr—

In self reduction the reduction species is

A.O

B.O*"

Cc.8%~

D. SO,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fHi1ideAHw6p

Practice Sheet 5 Match The Following Questions

1. Match the following columns

COLUMN -1 COLUMN - 1T

A) Extracted by electrolytic p) Pb

B) Metal dissolved in acids and bases q) Mg

C) Metal used as reducing agent in the r) Cu

extraction of Cr and Mn from their oxides

D) Metal extracted by self reduction 8) Al

° Watch Video Solution
COLUMN -1 COLUMN - 11
A) Haematite p) slag formation during both roasting smelting and

bessemersation
B) Copper pyrites q) Reduction by carbon monoxide (muinly) as well
as carbon ut different temperatures

©) Carnallite 1) Electrolytic reduction
D) Bauxite 3) Electrolytic refining

1) Leaching

o View Text Solution

Practice Sheet 5 Integer Answer Type Questions



https://dl.doubtnut.com/l/_OKPWyP4CwBJy
https://dl.doubtnut.com/l/_VAOJaMmHNtTr

1. In Goldschmidt aluminothmic process, thermite mixture contains x-

parts of F'e;O3 and one part of aluminium x is

° Watch Video Solution

2. Au+CN~ + Hy + Oy — [Au(CN), + OH| . How many CN ~

ions are involved in the above balanced equation? (per mole of Au)

° Watch Video Solution

3. Among the calamine, cupritezincite, chalcocite, heamatite, bauite ,

magnatite, Cassiterite. The number of oxide ores?

° Watch Video Solution

4. Which of the following are used in aluminium extraction? Cryolite

feldspar, carbon, ferrosilicon, iron, Nal, Calcium carbide, nitrogen gas,


https://dl.doubtnut.com/l/_JlBWYJrY7inj
https://dl.doubtnut.com/l/_UEfqmXw6FPrK
https://dl.doubtnut.com/l/_h2of6DQ1xzro
https://dl.doubtnut.com/l/_5NvA6NN3wbZN

NaOH.

° Watch Video Solution

5.X% of Cis present in steel X is

° Watch Video Solution

6. How many coordination isomeric (Pt(NHs),CI) exists with +2 state

of Pt

° Watch Video Solution

1. In moist air copper corrodes to produce a green layer on the surface.

What is that layer ?

° Watch Video Solution



https://dl.doubtnut.com/l/_5NvA6NN3wbZN
https://dl.doubtnut.com/l/_Bn6nSEZHWTv2
https://dl.doubtnut.com/l/_5xA4OuKddQCp
https://dl.doubtnut.com/l/_e2xCdQSjBseF

2. Why is the reduction of a metal oxide if the metal formed is in liquid

state at the temperature of reduction?

° Watch Video Solution

3. The Value of AG® for the formation of Crs03 is —540KJ mol ~! and
that of Al,05 is —827KJ mol ~ L. Is the reduction of Cry0; possible with

Al?

° Watch Video Solution

4. Reduction of metal sulphides directly with carbon is not possible. Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_e2xCdQSjBseF
https://dl.doubtnut.com/l/_cjQp5LW70WC3
https://dl.doubtnut.com/l/_EInoMLKzhqKe
https://dl.doubtnut.com/l/_h0odl8d0uTlM

5. Eventhough reduction of magnesia with aluminium s
thermodynamically feasible, in practice aluminium is not used in the

metallurgy of magnesium. Why?

° View Text Solution

6. Aluminium containing alumina as impurity can be refined by poling or

not. Why?

° Watch Video Solution

7. The choice of a reducing agent in the extraction of a particular case

depends on thermodynamic factor. Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_YydYBqM95eda
https://dl.doubtnut.com/l/_rYN8IrV4C2ix
https://dl.doubtnut.com/l/_5jtAXN4lYHzU

8. Hydrogen is a common reductant of organic chemicals, but it is not

widely used in metallurgy. Substantiate.

° Watch Video Solution

9. Out of coke and carbonmonoxide, which is a better reducing agent for

iron oxide?

° View Text Solution

10. Both coke and lime stone are used in smelting of iron ore. Why?

° Watch Video Solution

1. In the Auto oxidation taking place in Bessemer converter during the
extraction of copper. The change in oxidation state of sulphur in this

process is

| e |


https://dl.doubtnut.com/l/_xssZyJYPwCkB
https://dl.doubtnut.com/l/_lnlELG6fxsWV
https://dl.doubtnut.com/l/_FS3F043QIOOQ
https://dl.doubtnut.com/l/_a9TDf5xzTzhX

| & Watch Video Solution I

12. During the smelting of roasted copper pyrites in blast furnace, why

Cuy S formed but not FeS?

° Watch Video Solution

13. Out of C and CO, which is a better reducing agent for ZnO ?

° Watch Video Solution

14. How is a mixture of oxides of Aland Fe separated ?

° Watch Video Solution

15. Aluminium vessels should not be washed with materials containing

washing soda because

Y. I


https://dl.doubtnut.com/l/_a9TDf5xzTzhX
https://dl.doubtnut.com/l/_HzH8MvatGqT0
https://dl.doubtnut.com/l/_bQZjdBWELyf9
https://dl.doubtnut.com/l/_V7AtK5jswHLj
https://dl.doubtnut.com/l/_TffQePFxsPYu

| ¥ Vvatch Video Solution J

16. Graphite rods are frequently replaced in Hall-Heroult's process of

extracting aluminium metal. Why ?

o Watch Video Solution

17. Write the composition of brass and german silver ?

o Watch Video Solution

Exercise 711

1. What is an ore?

° Watch Video Solution

Exercise 7 14


https://dl.doubtnut.com/l/_TffQePFxsPYu
https://dl.doubtnut.com/l/_hdZGfpe2SW87
https://dl.doubtnut.com/l/_mTC7j6ozmNPm
https://dl.doubtnut.com/l/_HasdRr98jaEf

1. In the metallurgy of Zinc, the Zine dust obtained from roasting and

reduction of ZnS contains same It is removed by

o Watch Video Solution

2. Write any two minerals of Cu.

o Watch Video Solution

3. What is the primary product of Bessemerisation of Matte?

o Watch Video Solution

4. Write an equation for the reaction between silver glance and NaCN

solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_bREO1eMbmeyV
https://dl.doubtnut.com/l/_3yEmSHmQKgRq
https://dl.doubtnut.com/l/_g5nxtZxWkKiN
https://dl.doubtnut.com/l/_8PIs33Nbh9VL
https://dl.doubtnut.com/l/_bbdGIfaqkwAJ

5. What is steel? Write its uses.

o Watch Video Solution

1. Metal sulphides occur mainly in rocks, but metal halides occur in lakes

and sea. Why ?

° Watch Video Solution

2. Roasting of the sulphide ore is partially done in the metallurgical

operation of copper. Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_bbdGIfaqkwAJ
https://dl.doubtnut.com/l/_5SRv6ILYmqmW
https://dl.doubtnut.com/l/_e6XrqkOjLoLa

3. Egg shells on treating with dilute mineral acids give brisk effervenceses.

Why?

° Watch Video Solution

4. What criterion is followed for the selection of the stationary phase in

chromatography ?

° Watch Video Solution

5. Which metals are extracted by auto-reduction process?

° View Text Solution

6. Why copper pyrites roasted partially during the extraction of copper?

° Watch Video Solution



https://dl.doubtnut.com/l/_wlu96bWGDjVQ
https://dl.doubtnut.com/l/_JcUcZV2BgcaG
https://dl.doubtnut.com/l/_AMaP5CGnPYhG
https://dl.doubtnut.com/l/_H4jArgxEhYnn
https://dl.doubtnut.com/l/_QsSqSd6BSp2q

7. Ag and Cu are below hydrogen in activity series, yet they are found in

combined state. Why?

° Watch Video Solution

8. CO is more effective reducing agent than coke below 983 K, but above

983 K the reverse is true. Why?

° Watch Video Solution

9. How the following metals are refined:
(a) Copper with cuprous oxide as impurity, (b) Copper with zinc, silver and

gold as impurities and (c) Silver with lead impurity

° Watch Video Solution



https://dl.doubtnut.com/l/_QsSqSd6BSp2q
https://dl.doubtnut.com/l/_vukTCuFeMF9E
https://dl.doubtnut.com/l/_LuGdbr8Pz8Rp

10. When heamatite is burnt in air with coke and lime at 2000° C, steel is
produced along with a bi-product 'X'. 'X' is useful as building material.

Discuss.

° Watch Video Solution

1. Why is the extraction of copper form pyries more difficult then that

from its oxide ore through reduction?

° Watch Video Solution

12. How is leaching carried out in the case of low grade copper ores?

° Watch Video Solution

13. Hydrogen is a common reductant of organic chemicals, but it is not

widely used in metallurgy. Substantiate.

| e |


https://dl.doubtnut.com/l/_mggDVbWnKnAw
https://dl.doubtnut.com/l/_ZGwBunVn43jY
https://dl.doubtnut.com/l/_rM2edd9BYumL
https://dl.doubtnut.com/l/_kIKPAjV5yZcb

l & Watch Video Solution J

14. Copper can be extracted by hydrometallurgy but not Zinc -explain.

° Watch Video Solution

15. Alkali metals are

° Watch Video Solution

16. Is it true that under certain conditions, Mg can reduce SiO, and Si

canreduce MgO? What are those conditions?

° Watch Video Solution

17. Name the metal M, which is extracted based on the following equation

4M +8CN ™~ + 2H,0 + O — 4|M(CN),|  +40H ™~


https://dl.doubtnut.com/l/_kIKPAjV5yZcb
https://dl.doubtnut.com/l/_8NdsFsEvvMA6
https://dl.doubtnut.com/l/_hWd51rZJiBB7
https://dl.doubtnut.com/l/_2Lo9spMmGNYo
https://dl.doubtnut.com/l/_L1uq4CeU5A1E

2[M(CN),] ™ + Zn — [Zn(CN),]* + 2M

° Watch Video Solution

18. In the extraction of Fe, what is the advantage of difference in

temperatures of blast furnace ?

° Watch Video Solution

19. Metal oxide is easily reduced if the metal is in molten state at the

temperature of reduction. Explain.

° Watch Video Solution

20. What are the compositions of gem stones, ruby and sapphire?

° Watch Video Solution



https://dl.doubtnut.com/l/_L1uq4CeU5A1E
https://dl.doubtnut.com/l/_vaXpN1gqNrSs
https://dl.doubtnut.com/l/_2fABa9v1NKNl
https://dl.doubtnut.com/l/_F0lxo5uPHofP

21. Active metals are not extracted by the electrolysis or aqueous

electrolytes. Explain.

° Watch Video Solution

22, AGJ? values for the formation of CuO, CO and H,O are respectively
—129.7, — 137.2 and — 237.2kJmol ! respectively. In between carbon
and hydrogen, which is good reductant for reduction of the metal oxide.

Why?

° Watch Video Solution

23. Anhydrous aluminium chloride fumes in air. Give reasons.

° Watch Video Solution



https://dl.doubtnut.com/l/_Orqm3CUFZzZ5
https://dl.doubtnut.com/l/_O1OUHGlj0smF
https://dl.doubtnut.com/l/_cqi7475qdiOB

